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TVC(cbch) (0,7,12

1z, ssve+U9 / 25
L - po 4392+ 0.0
pl -33.72+ 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (07,1

~ g, 1uve+u9 / 25

L. - pO 4460+ 0.0
-

- pl -37.33+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

“rnug zoe+u9 / 25
4427+ 0.0
-35.49 + 0.00

TP delay [ns]

TVC(c,b ch) (0 7,9

-z dr1e+09 /25
Es - pO 4430+ 0.0
Pl -35.86+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 7 13

~ 1 nuis.usve+u9 / 25
L. - pO 4438+ 0.0
p1 -35.2+ 0.0

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

0

4000

2000

TVC(cbch) (0,7,2)

A1z yure+U9 /25
- - po 4478+ 0.0
E e
[ - pl -37.6+ 0.0

3000

TP delay [ns]

TVC(cbch) (07,6

-1z 4p5e+09 / 25
4396+ 0.0
-34.5+ 0.0

TP delay [ns]

TVC(eb,oh)=(0, 7, 10

© 1 nuzbsge+U9 / 25
=N - po 4423+ 0.0
i p1 -35+ 0.0

3000

TP delay [ns]

TVC(cbch) (0,7,14

1000

~nuiz438e+09 / 25
N - pD 4422+ 0.0
[ pl -35.04 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3

A7 1 nuzBuYe+U9 / 25
B - po 4428 + 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

- 1nu 331e+U9 / 25
L. - pO 4393+ 0.0
p1 -34.03+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

AR bddeﬂ]g 125
= - pO 4432+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 7 15

Tinuz.r3/e+u9 /25
4441+ 0.0
-35.25+ 0.00

PR R SRR |
50 100

TP delay [ns]
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1000

4000
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1000

TVC(cbch) (0,8,0

~rnuzpi4e+U9 / 25
_ - pO 4442+ 0.0
- pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (0.8,4

T rnuz.413e+09 / 25
4428+ 0.0
-34.7+ 0.0

50 10'0
TP delay [ns]

TVC(cbch) (O 8,8

~1nuizyz4e+09 / 25
RN - pO 4424+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (0,812

1z 50ze+09 / 25
- - po 4429+ 0.0
pl -35.93+ 0.00

TP delay [ns]
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1000
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3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

AT 1 nuz,So3e+U9 / 25
— - po 4415+ 0.0
- pl -34.87 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

-1 nu Zgye+u9 / 25
4407+ 0.0
-34.11 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (0 8,9

-1 nuiz.zuse+u9 / 25
Lo - pO 4402 0.0
p1 -34.94 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, 8 13

T nuiz.o8/e+u9 / 25
- - pO 4444+ 0.0
p1 -36+ 0.0

TP delay [ns]
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2000

4000
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2000

1000
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4000

3000
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TVC(cbch) (0,8,2)

1000

X~ 1wz 439e+09 / 25
Y - po 4430+ 0.0
[ - pl -35.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,86

1000

-1 bzoe+U9 / 25
L. - pO 4407+ 0.0
b Pl -3456+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(0, 8, 10

T, rz3e+09 / 25
- po 4459+ 0.0
b -, p1 -35.87  0.00

TP delay [ns]

TVC(cbch) (0,814

1000

T rnuizg41e+09 / 25
o - pD 4453+ 0.0
[ - pl -36.35+ 0.00

TP delay [ns]
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1000
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TVC(cbch) (0,8,3

AT 1 nuz533e+U9 / 25
ke - po 4439+ 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

1 Zave+u9 /25
- pO 4417+ 0.0
pL -34.71+ 0.00

FC =28.81[psich]= 1

TP delay [ns]

TVC(c,b ch) (0, 8

ERALEVX b4ue+u9 125
e - pO 4437+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 8 15

T inuz rb1e+u9 /25
4425+ 0.0
-35.15+ 0.00

TP delay [ns]
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TVC(cbch) (0,9,0)

T zope+u9/ 25
4442+ 0.0
-35.17 + 0.00

TP delay

TVC(cbch) (09,4

e - pO

- pl

[ns]

-z gge+u9 / 25
4435+ 0.0
-35.32+ 0.00

TP delay

TVC(cbch) (O 9,8

[ns]

9,8)
11z, (o3e+U9 / 25
4000 fom - po 4412+ 0.0
- p1 -34.47 £ 0.00
3000 - ]
2000 |- 7]
wor C =29.01 [ps/ch]™ 7]
1 1 -
b 50 100
TP delay [ns]
TVC(cbch) (0,9,12)
T 1nuz.430e+09 / 25
4000 o’ - po 4397+ 0.0
p1 -34.42 + 0.00
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TP delay
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TVC(cbch) (0,9,1)
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= pL

AT 1 nuzoo1e+u9 / 25
4391+ 0.0
-34.7 £ 0.0

TP delay [ns]

TVC(c,b ch) (0 9,5

L - pO
== p1

- nubzze+u9 / 25
4417+ 0.0
-35.04 % 0.00

TP delay [ns]

TVC(c,b ch) (0 9,9

- - PO

pl

- 1z 4u9e+U9 / 25
4394+ 0.0
-34.45+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 9 13

-1 nuiz suge+u9 / 25
4376+ 0.0
-33.15+ 0.00

TP delay [ns]
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2000
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3000

2000

TVC(cbch) (0,9,2)

1000

T zaze+u9/25
o - pO 4413+ 0.0
[ p1 -36.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,9,6

=/ nug,

1000

= - PO

p1

148e+U9 / 25
4388+ 0.0
-34.78 + 0.00

TP delay [ns]

TVC(eb,oh)=(0, 9, 10

RRALEX b)ae+09/25

4000 - po 4429+ 0.0

b =, p1 -34.88 + 0.00
3000 -— _-
2000 -— _-
woor C = 28.67 [ps/ch]™ ]

- -

-
- -'
0 L ;
o 50 100
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TP delay [ns]

TVC(cbch) (0,9,14

T rnuiz431e+09 /25
4373+ 0.0
-33.14+ 0.00
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[ P
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A1z oo1e+u9 / 25
4389+ 0.0
-34.84+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0 9,7

e - PO

D pl

-1 nug.Usze+u9 / 25
4420+ 0.0
-35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (o, 9

e - p°
pl

T, 4zue+u9 125
4418+ 0.0
-35.63+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0, 9 15

T nuzbz/e+u9 /25
4408+ 0.0
-34.06 + 0.00

1
100

TP delay [ns]
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TVC(CbCh) (o, 10 0)

©rnuiz.4uze+U9 / 25
— - pO 4410+ 0.0
- pl -33.88+ 0.00

1
50 100

TP delay [ns]

TVC(Cbch) (o, 10 4

-z bo3e+u9 / 25

L. - pO 4467+ 0.0
—

= pL -36.51+ 0.00

TP delay [ns]

TVC(eb,oh)=(0, 10,8

1 nuzpave+U9 / 25
RN - pO 4420+ 0.0
- pl -34.71+ 0.00

TP delay [ns]

TVC(Cbch) (o, 10 12

1 nuizyode+U9 / 25
_ - po 4455+ 0.0
- pl -35.61+ 0.00

TP delay [ns]
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TVC(chh) (0,10,1)

AT 1 nuz,334e+U9 / 25
= - po 4415+ 0.0
- pl -34.19+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (0, 10 5

-1 nu.z43e+u9 / 25
4446+ 0.0
-37.15+ 0.00

TP delay [ns]

TVC(eb.oh)=(0, 10,9

-/ uz.4Z8e+U9 ] 25
- - pO 4418+ 0.0
pL -35.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 10 13

T nui, rsae+u9 / 25
4447+ 0.0
-35.16 + 0.00

TP delay [ns]
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0
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2000

TVC(CbCh) (o, 10 2)

T a5 e+U9 / 25
-_- - pO 4428+ 0.0
i p1 -34.42+ 0.00

FC = 29.05 [ps/ch] ™ 1

1
50 100

TP delay [ns]

TVC(Cbch) (o, 10 6

T rnuzbb/e+u9 / 25
e s - pO 4427+ 0.0
b p1 -35.74+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 10 10

© 1z, zgze+09 | 25
N - po 4427+ 0.0
3 p1 -35.81+ 0.00

TP delay [ns]

TVC(CbCh) (o, 10 14

1000

~ 1z, rope+U9 / 25
N - pD 4442+ 0.0
[ pl -35.65+ 0.00

TP delay [ns]

TVC(Cbch) (0,10,3)

4000 - po

A1z zove+u9 / 25
4426+ 0.0
pl -34.45+ 0.00

3000

2000

1000

1 1
50 100

TP delay

TVC(c,b Ch) (0, 10 7

4000 faun N\ - PU

[ns]

-1 nu.48ze+u9 / 25
4451+ 0.0
pl -36.54 + 0.00

3000

2000

1000

TP delay

TVC(Cbch) (0, 10 11

4000w - p°

[ns]

-1 nuiz 120e+U9 / 25
4416+ 0.0
p1 -34.47 + 0.00

3000 -

2000 -

wof C = 29.01 [ps/ch] ™,

TP delay

TVC(cbch) (0, 10 15

4000

[ns]

-1 nuis.uzye+u9 / 25
4457+ 0.0
-36.11 + 0.00

3000

2000

1000

TP delay

[ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,11,0)

A~ 11wz, sove+U9 / 25
4358+ 0.0
p1 -34.27+ 0.00

TP delay

TVC(cbch) (o, 11 4

- - PO

- pl

[ns]

- ruzba1e+09 / 25
4392+ 0.0
-33.89 0.00

50 10'0
TP delay

TVC(cbch) (o, 11 8

= - PD

P p1

[ns]

a2 yose+u9 / 25
4383+ 0.0
-33.72+ 0.00

1
50 00

TP delay

TVC(c,b Ch) (0,11,12

[ns]

X~ 1z 150e+09 / 25
e, - po 4377+ 0.0
pl -34.87 + 0.00

TP delay

[ns]

4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,11,1)

- - PO

& pL

A~ 1 nuiz,5y0e+U9 / 25
4381+ 0.0
-34.93+ 0.00

TP delay

TVC(c,b Ch) (0, 11 5

[ns]

-1 nug.uU3e+u9 / 25
4436+ 0.0
-34.5 % 0.0

50 150
TP delay

TVC(c,b ch) (0, 11

[ns]

T inuz.zg1e+u9 / 25
4379+ 0.0
-33.89 + 0.00

TP delay

TVC(c,b ch) (o, 11 13

e - "0

[ns]

T inuzgy/e+u9 /25
4401+ 0.0
pl -34.55+ 0.00

TP delay

[ns]
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1000

4000

3000
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1000

4000

3000
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1000

4000

3000

2000

TVC(CbCh) (0,11, 2)

X~ 1wz 4o2e+09 1 25
- - po 4378+ 0.0
i p1 34,68+ 0.00
FC=28.84 [ps/ich]= 1

TP delay

TVC(chh) (o, 11 6

= - PO

[ns]

-1 bb3e+u9 / 25
4393+ 0.0
pl -35.13 + 0.00

TP delay

TVC(e,Deh)=(0, 11, 10

[ns]

X~ 11z 39pe+U9 / 25
e - po 4350+ 0.0
[ p1 -33.27 + 0.00

TP delay

TVC(c,b Ch) (0,11, 14

1000

[ns]

X~ 1z 5zze+09 /25
£ - po 4460+ 0.0
P p1 -36.16+ 0.00

TP delay

[ns]
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1000

4000
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1000

TVC(Cbch) (0,11,3)

= - PO

A7 1 nuiz, sose+u9 / 25
4358+ 0.0
p1 -34.25+ 0.00

TP delay

TVC(CbCh) (0, 11 7

preess, - PO

[ns]

- 1nu z18e+u9 / 25
4367+ 0.0
pl -33.47 + 0.00

50 160
TP delay

TVC(EDeN)=(0, 11, 11

[ns]

-1 nuiz 140e+09 / 25
4363+ 0.0
-34.29 + 0.00

TP delay

TVC(c,b Ch) (o, 11 15

[ns]

-1 nuiz.asse+u9 / 25
4391+ 0.0
-33.87+ 0.00

TP delay

[ns]
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1000

0

4000 [,
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1000

TVC(CbCh) (o, 12 0)

iz ouse+U9 / 25
_ - pO 4438+ 0.0
- pl -35.26 + 0.00

TP delay [ns]

TVC(Cbch) (o, 12 4

= iU, 005e+u9 / 25

- - po 4510+ 0.0
™

- pl -37.66 + 0.00

TP delay [ns]

TVC(eb,oh)=(0, 12,8

Tz r1e+09/25
e - PD 4399+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(Cbch) (o, 12 12

1z 505e+09 / 25
4388+ 0.0
-34.62+ 0.00

TP delay [ns]
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1000

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,12,1)

A7 1 nuzyove+u9 / 25
_ - po 4463+ 0.0
- pl -37.32+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 12 5

=1 U bbae+u9 / 25
4466 + 0.0
-37.29 % 0.00

TP delay [ns]

TVC(eb.oh)=(0, 12,9

-1 nuiz.ysze+u9 / 25
4403+ 0.0
-35.08 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 12 13

Tinuizyr3e+u9 /25
4407+ 0.0
-35.01+ 0.00

TP delay [ns]
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1000

4000
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1000
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1000

0

4000

3000

2000

TVC(CbCh) (o, 12 2)

~rnwis140e+09 / 25
- - pO 4463+ 0.0
™ nen
[ p1 -36.15+ 0.00

TP delay [ns]

TVC(Cbch) (o, 12 6

-1z goye+u9 / 25
o - pO 4404+ 0.0
r p1 -35.79+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

~1nuizyyle+u9 / 25
L - po 4429+ 0.0
b p1 -35.21+ 0.00

TP delay [ns]

TVC(CbCh) (o, 12 14

1000

a2 puse+U9 / 25
- - pD 4409+ 0.0
[ pl -34.89+ 0.00

TP delay [ns]
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1000
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1000

TVC(Cbch) (0,12,3)

&A™ 1 nug.uive+u9 / 25

- - po 4478 + 0.0
'oaea

- pl -36.53+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 12 7

-1 nu bzae+u9 / 25
E - pO 2426+ 0.0
p1 -36.22:+ 0.00

TP delay [ns]

TVC(Cbch) (0, 12 11

"1 nuizy4ie+u9/ 25
L - pO 4431+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 15

T nus.ulae+u9 / 25
4416+ 0.0
-35.04+ 0.00

TP delay [ns]



TVC(CbCh) (o, 13 0)
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3000
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1000

T rnuzoo1e+U9 /25
e - pO 4440+ 0.0
- pl -35.86+ 0.00

TP delay [ns]

TVC(Cbch) (o, 13 4

4000

3000

2000

1000

-1 nuz, 388e+09 / 25
- - pO 4427+ 0.0
Pl -36.43: 0.00

TP delay [ns]

TVC(eb,oh)=(0, 13,8

4000

3000

2000

1000

Tz 3zze+09 / 25
RN - pO 4431+ 0.0
pl -33.71+ 0.00

0

1
50 00

TP delay [ns]

TVC(Cbch) (o, 13 12

4000

3000

2000

1000

~rnuiLy1ve+U9 / 25
RN - po 4407+ 0.0
pl -33.85+ 0.00

- C =29.54 [ps/ch] ._ ]

L n n n n 1
50 100

TP delay [ns]
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1000

TVC(chh) (0,13,1)

AT 1 nuzbzse+u9 / 25
—__ - po 4437+ 0.0
& pl -36.62+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 0, 13 5

© 1 nuig148e+07 / 25
== - po 4296+ 0.0
pl -36.91+ 0.00

50 150
TP delay [ns]

TVC(eb.oh)=(0, 13,9

-1 nui gg3e+u9 / 25
e - pO 4439+ 0.0
p1 -33.82+ 0.00

FC = 2957 [ps/ch] .. 1

1
50 00

TP delay [ns]

TVC(c,b ch) (0, 13 13

T inu ss1e+u9 / 25
Y - pO 4424+ 0.0
p1 -34.9+ 0.0

TP delay [ns]

TVC(CbCh) (o, 13 2)
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3000

2000

1000

T rnuizpLie+u9 /25
" - pO 4405+ 0.0
p1 -34.77 + 0.00

TP delay [ns]

TVC(Cbch) (o, 13 6

4000
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2000

1000

=1 nuz b5u5e+09 / 25
4441+ 0.0
-36.41+ 0.00

TP delay [ns]

TVC(eb.eh)=(0, 13, 10

4000
3000

2000

1000

1 nuz5gve+U9 / 25
4471+ 0.0
-33.7+ 0.0

- C = 29.67 [ps/ch] .. ]

]

0

1
50 100

TP delay [ns]

TVC(CbCh) (o, 13 14
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1000

- 2.34e+09 ] 25
e - pD 4412% 0.0
3 pl -34.21+ 0.00
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TVC(Cbch) (0,13,3)

4000 [ - po

pl

A7 1 nuizyoye+U9 / 25
4433+ 0.0
-36.2+ 0.0

3000 -

2000

w0l C = 27.63 [pS/Ch-T-_

TP delay

TVC(c,b Ch) (0, 13 7

4000 fame - PU

[ns]

- i, r9ge+u9 / 25
4445+ 0.0
p1 -35.65+ 0.00

3000

2000

1000

TP delay

TVC(Cbch) (0, 13 11

4000

[ns]

T nuizz/ye+u9/ 25
4460 £ 0.0
-34.79 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (0, 13 15

4000 e, - PO
pl
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T inuiz.z19e+u9/ 25
4426+ 0.0
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TP delay
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e - PO 4421+ 0.0
- pl -36.37 + 0.00

TP delay [ns]

TVC(Cbch) (o, 14 4

-1z 6Yse+U9 / 25
4431+ 0.0
-34.47 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (0, 14 8

T a3 e+U9 / 25
e - pO 4386+ 0.0
p1 -34.57 + 0.00

TP delay [ns]

TVC(Cbch) (o, 14 12

T 1r3e+U9 / 25
4428+ 0.0
-34.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,14,1)

AT 1 nuzsloe+u9 / 25
e - po 4422+ 0.0
- pl -35.53+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 14 5

-1 nu391e+u9 / 25
e - pO 4412+ 0.0
p1 -34.64 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (0, 14

~ 1 nuiz p3ze+u9 / 25
L. - pO 4404% 0.0
p1 -35.11+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 14 13

Tinuizys/e+u9 /25
4425+ 0.0
-35.49+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

TVC(CbCh) (o, 14 2)

Tz saze+09 / 25
__- - pO 4436+ 0.0
[ - pl -35.65+ 0.00

TP delay [ns]

TVC(Cbch) (o, 14 6

- rnuz.a11e+09 / 25
o - pO 4369+ 0.0
I p1 -33.25+ 0.00

F C =30.08 [ps/ch] .. 1

50 10'0
TP delay [ns]

TVC(eb,ch)=(0, 14, 10

T, z1e+09 / 25
- - po 4406 0.0
b p1 -34.85+ 0.00

TP delay [ns]

TVC(CbCh) (o, 14 14

1000

-1 nuiz,yyde+09 / 25
RN - pD 4432+ 0.0
[ - pl -36.02 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,14,3)

A1z nive+u9 / 25
- - po 4380+ 0.0
p1 -34.49 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, 14 7

-1 nu bobe+u9 / 25
4385+ 0.0
-33.8+ 0.0

50 160
TP delay [ns]

TVC(e.beh)=(0, 14, 11

"1 nuzb1ae+u9 / 25
e - pO 4403+ 0.0
p1 -34.99+ 0.00

TP delay [ns]

TVC(cbch) (0, 14 15

T nuiz. robe+u9 / 25
N - po 4427+ 0.0
p1 -36.3+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 15 0)

©rnuzsuze+U9 / 25
4417+ 0.0
-33.32+ 0.00

FC =30.01 [ps/ch] ™=,

% e
TP delay [ns]
TVC(c,b ch) (0, 15 4)
~1nuz pble+u9 / 25
A - pO 4448+ 0.0
& pl -35.97 + 0.00

TP delay

TVC(cbch) (o, 15 8

. - po

[ns]

1 nuiz.4z8e+09 / 25
4410+ 0.0
p1 -34.68+ 0.00

TP delay

TVC(Cbch) (o, 15 12

- - PO

[ns]

Tz 347e+09 /25
4403+ 0.0
pl -34.12+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,15,1)

A7 1 nuiz,5uve+U9 / 25
- - po 4402£ 0.0
pl -32.8 + 0.0
[ C=230.49 [ps/ch] - T
L -
50 100

TP delay

TVC(c,b Ch) (0, 15 5

[ns]

-1 nugole+u9 / 25
4454+ 0.0
-36.09 + 0.00

TP delay

TVC(c,b ch) (0, 15

a2

[ns]

ve+u9 /25
4457+ 0.0
-34.38 + 0.00

TP delay

TVC(c,b ch) (0, 15 13

[ns]

1 nuiz.yzoe+u9 / 25
4395+ 0.0
-33.57+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000
3000
2000

1000

TVC(CbCh) (o, 15 2)

~rnuizgnse+U9 / 25
4425+ 0.0
-34.99 + 0.00

F.. - po
[ oL
I C =28.58 [ps/ch]~ o
5(') 10'0
TP delay

TVC(Cbch) (o, 15 6

[ns]

-1 nuzbz4e+09 / 25
4412+ 0.0
-35.7+ 0.0

TP delay

TVC(e,b,ch)=(0, 15, 10

[ns]

T, bb2e+09/25

4000 - po 4449+ 0.0

:" = pl -35.04 + 0.00
3000 -— _-
2000 o ]
woor C = 28.54 [ps/ch]™ 7]

0 5(') 10'0

TP delay [ns]

4000

3000

2000

1000

TVC(CbCh) (o, 15 14

T rnuiz417e+09 /25
4380+ 0.0
-33.39+ 0.00

- - PD

[ PL

[ C=29.95 [ps/ch] =,
TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,15,3)

- - PO
- pL

A7 1 nuiz,bbbe+u9 / 25
4425+ 0.0
-34.42+ 0.00

1 1
50 100

TP delay

TVC(c,b Ch) (0, 15 7

- - PO

D pl

[ns]

- rnug zize+u9 / 25
4438+ 0.0
-35.45+ 0.00

TP delay

TVC(e,beh)=(0, 15, 11

- pO
pl

[ns]

-1 nuiz.uzse+u9 / 25
4399+ 0.0
-33.56 + 0.00

TP delay

TVC(cbch) (0, 15 15

[ns]

-1 nuz 33ae+09 / 25
4392+ 0.0
-34.06 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0

~rnuzi0e+U9 / 25
—_~ - pO 4417+ 0.0
- pl -36.16 + 0.00

TP delay [ns]

TVC(cbch) (1,0,4

- w5y /e+u9 / 25
= - po 4392+ 0.0
- p1 -35.75+ 0.00

TP delay [ns]

TVC(cbch) (1 0,8

T rnuzb41e+09 / 25
e - pO 4408+ 0.0
= p1 -34.16 + 0.00

1
o 50 00

TP delay [ns]

TVC(c,b ch) (1, O 12

T zz1e+u9/25
- - po 4385+ 0.0
pl -34.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,01

X1, 75 e+09 | 25
—_~ - po 4423+ 0.0
- pL -36.63+ 0.00

TP delay [ns]

TVC(c,b ch) (1, O

- 1. I51e+U9 / 25
P, - DU 4378+ 0.0
pl -35.34 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,9

-1 nuiL ygae+u9 / 25
e - pO 4386+ 0.0
p1 -34.12+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (1, O 13

~ 1 nui zgse+u9 / 25
P - PO 4385+ 0.0
p1 -35.34+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

2000

1000

]
:
c 29.72 [psich] ™=,

0 EY i --:

4000

3000

2000

TVC(cbch) (1,0,2)

A1z syse+U9 / 25
- - po 4425+ 0.0
e
[ p1 -35.35+ 0.00

TP delay [ns]

TVC(cbch) (10,6

TP delay [ns]

TVC(eb,oh)=(1, 0, 10

-1z, rope+u9 / 25
L - pO 4425 0.0
F e
[ pL -35.33+ 0.00

3000

Tz, 11e+u9 /25
L. - po 4404+ 0.0
[ pl -33.65+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 0 14

1000

T zpoe+u9/ 25
- - pD 4404+ 0.0
[ pl -36.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

A7 1 nuizyoze+U9 / 25

L - po 4459+ 0.0
"o

- pl -36.24+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

= 1nuz6/oe+u9 / 25
) - po 4389+ 0.0
p1 -35.48 + 0.00

TP delay [ns]

TVC(c,b ch) (1, O

T, /sze+u9/25
L. - pO 4421+ 0.0
p1 -34.49 + 0.00

TP delay [ns]

TVC(c,b ch) (1, O 15

1 nuis zzoe+u9 / 25
4408+ 0.0
-35.28 + 0.00

TP delay [ns]



TVC(cbch) (1,1,0

4000

3000

2000

1000

K-, r1re+09 /25
R - PO 4418+ 0.0
- pl -36.04+ 0.00

TP delay [ns]

TVC(cbch) (11,4

4000

3000

2000

1000

- 1wz 389e+U9 / 25
) - po 4397+ 0.0
- pl -35.61+ 0.00

TP delay [ns]

TVCebeh)=(1 1,8

4000

3000

2000

1000

1 nuiz.4uze+09 / 25
K - pO 4416+ 0.0
= p1 -34.46  0.00

0

1
50 00

TP delay [ns]

TVC(cbch) (1,1,12

4000

3000

2000

1000

Tz go1e+09 / 25
k. - po 4400+ 0.0
pl -35.62+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1

A7 1 nuiz, (oYe+u9 / 25
__~ - po 4434+ 0.0
- pl -35.41+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

S rnuzy/e+u9 /25
4448+ 0.0
-35.82+ 0.00

TP delay [ns]

TVCEebeh)=(1 1,9

T inuzzs/e+u9 /25
e - pO 4394+ 0.0
p1 -33.52+ 0.00

F C =29.83 [ps/ch] ™

TP delay [ns]

TVC(c,b Ch) (1, l 13

-1 nuiz syve+u9 / 25
4397+ 0.0
-35.52+ 0.00

TP delay [ns]

4000

2000

4000

2000

1000

]
]
C =30.01 [ps/ch] =,

) o+ s

4000
3000

2000

TVC(cbch) (1,1,2)

1000

TP delay [ns]

TVC(cbch) (11,6

X~ 1z 437e+09 /25
e - po 4422+ 0.0
[ - pl -35.23+ 0.00

3000

TP delay [ns]

TVCebeh)=(1, 1, 10

- rnuz.413e+09 / 25
= - pO 4428+ 0.0
P p1 -35.86 + 0.00

3000

1 nuizpbbe+U9 / 25
L. - po 4398+ 0.0
[ p1 -33.32+ 0.00

TP delay [ns]

TVC(cbch) (1,1,14

1000

T rnugz5u1e+09 / 25
- pD 4401+ 0.0
p1 -36+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3

A~ 1 nuzsu1e+U9 / 25
_ - po 4429+ 0.0
- pl -34.85+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (1 1,7

“rnun Z.bye+u9 [ 25
ke - pO 4393+ 0.0
) p1 -34.39+ 0.00

TP delay [ns]

TVC(c,b ch) (L1,

1)
T nuz.p31e+u9 / 25
L. - pO 4416+ 0.0
p1 -34.24+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1 15

-1 nug 38e+09 / 25
4399+ 0.0
-34.34+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0)

T zooe+u9/ 25
4434+ 0.0
-36.57 + 0.00

TP delay

TVC(cbch) (1,24

[ns]

- rnug 13ze+09 / 25
4419+ 0.0
pl -35.75+ 0.00

TP delay

TVC(cbch) (1,28

[ns]

T 1nuzpole+u9 / 25
4408+ 0.0
-34.29 + 0.00

0 50

1
100

TP delay

TVC(cbch) (1,212

[ns]

T rnuz5y1e+U9 / 25
4450+ 0.0
-36.03+ 0.00

TP delay

[ese - pO
& p1
[ C=27.75[ps/ch] 7

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1)

. - pO

& pL

T zr1e+u9/ 25
4431+ 0.0
-35.12+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 2

-1 nu 3y3e+u9 / 25
4454+ 0.0
-35.68 + 0.00

1
100

TP delay [ns]

TVCebeh)=(1,2,9

- 1nuz.fu1e+u9 / 25
4405+ 0.0
-33.9+ 0.0

1
100

TP delay [ns]

TVC(c,b Ch) (1, 2 13

1 nuiz gbae+u9 / 25
4450+ 0.0
-36.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (1,2,2)

X~ 1z syse+U9 / 25
L. - po 4452+ 0.0
b ™ pl -35.32+ 0.00
[ C=28.31[ps/lch]= 1]
1 1 -
50 100
TP delay [ns]
TVC(cbch) (1,26)
- uz.a13e+09 / 25
L - pO 4428+ 0.0
[ pl -35.24 + 0.00

TP delay

TVC(c,b, ch) (1, 2 10

[ns]

2,10)
11z yuze+U9 / 25
4000 [ - po 4400+ 0.0
3 pL -33.84+ 0.00
3000 — _
2000 — _
wor C =29.55 [ps/ch] =, 7
1 1 -]
¢ 50 100
TP delay [ns]

4000

3000

2000

TVC(c,b Ch) (1, 2 14

1000

2,14 )
g, z11e+u9 / 25
__\_ - pD 4466+ 0.0
[ pl -35.31+ 0.00
- C=28.32 [ps/ch
1 1 -.-'-
50 100
TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3)

- - PO

A pL

x- 1z szae+09 ] 25
4417 + 0.0
-34.53+ 0.00

L
50

1
100

TP delay [ns]

TVC(c,b ch) (1 2,7

Crnun Zpe+u9 /25
4414+ 0.0
-34.66 + 0.00

[Rems, - PO
p1
[ C =28.86 [ps/ch]~

1
100

TP delay [ns]

TVC(c,b ch) (L2

AR bbéeﬂ]g 125
4430+ 0.0
-34.9 + 0.0

1
100

TP delay [ns]

TVC(c,b ch) (1, 2 15

T nanz.oze+u9 / 25
4416+ 0.0
-35.21+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0)

X~ 1w 145e+09 / 25
4466+ 0.0
-36.99 + 0.00

TP delay [ns]

TVC(cbch) (1,34

-1z bobe+u9 / 25
= - pO 4433+ 0.0
A p1 -36.98:+ 0.00

TP delay [ns]

TVC(cbch) (1 3,8

©nuig,0yse+U9 / 25
L - pO 4464+ 0.0
- p1 -34.71% 0.00

4000

3000~ 7]

2000 ]

w0 C = 28.81 [ps/ch] - 7

) - o
TP delay [ns]
TVC(CbCh) (1, 3 12
4000

3000

2000

1000

Tz syre+U9 / 25
4365+ 0.0
-32.61+ 0.00

- C = 30.66 [ps/ch] = 1

L n n n n 1 n
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,31)

= - 'JO

& pL

-1 nuig,ub4e+u9 / 25
4460+ 0.0
-35.56 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 3

- 1nug 1/4e+09 / 25
4488+ 0.0
-37.99 + 0.00

TP delay [ns]

TVC(c,b ch) (1 3,9

-1 nuiz bube+u9 / 25
L - pO 4438+ 0.0
p1 -35.04 £ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 3 13

T inuz sble+u9 / 25
4372+ 0.0
-32.86+ 0.00

- C =30.43 [ps/ch] . 1

P R
50 100

TP delay [ns]

4000

3000
2000

1000

4000

2000

1000

RRALEDR 421e+09/25
4000 s - po 4441 0.0
[ pl -34.82 % 0.00
a000|- .
2000 ]
w00~ C = 28,72 [pS/Ch] - T
r -
-
-.
1 1
d 50 100

4000

3000

2000

1000

TVC(cbch) (1,3,2)

- - PO

& p1

A~ 1z puse+U9 / 25
4431+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(cbch) (1,36

50 100
TP delay [ns]

TVC(eb.oh)=(1, 3, 10

-1 nuzBape+u9 / 25
L. - pO 4477+ 0.0
-
[ p1 -37.79+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,3 14

~ 1 nuiLby4e+09 / 25
b pD 4765+ 0.0
- pl -35.48+ 0.00

- C =28.18 [ps/ch] ™

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3)

AT 1 nuiz,y4ye+U9 / 25
4470+ 0.0
-36.33+ 0.00

Fote - PO
- pl
[ C=27.52 [ps/ch]=

1
100

TP delay [ns]

TVC(c,b ch) (1 3,7

S rnan 3.z21e409 /25
_ - pO 4453+ 0.0
A p1 -36.79+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 3

T, /U‘Je+U9/25
4443+ 0.0
-34.6 £ 0.0

TP delay [ns]

TVC(c,b ch) (1, 3 15

-1 nuiz 1boe+u9 / 25
4362+ 0.0
-33.34+ 0.00

TP delay [ns]



TVC(cbch)(140) TVC(cbch)(l4l) TVC(cbch)(142) TVC(cbch)(143)
Tz s11e+u5/ 25 AT 1 nus.zyve+u9 / 25 AT 1 nug ssse+u9/ 25 AT rnuzysre+u9 /25
4000 e, - po 4282+ 0.0 4000 —_~ - po 4503+ 0.0 4000 P - po 4482+ 0.0 4000 Bt e - po 4488+ 0.0
pl -38.23+ 0.00 - pl -38.58 + 0.00 : - pl -37.83+ 0.00 - pl -37.53+ 0.00

3000

3000 -1 3000 =1 3000

2000 2000 B 2000 B 2000

1000 N 1000 -1 1000 = 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,4,4) TVC(cbch) (1,4,5) TVC(cbch) (1,4,6) TVC(cbch) (1,4,7)
- .62 (e+09 ] 25 - g 0r5e+u9 / 25 - g ane+09 / 25 - 1, 7a8e+u9 25
4000 Fo.nn - pO 4430+ 0.0 4000 4485+ 0.0 4000 -._ - pO 4474+ 0.0 4000 fee_2N - pO 4413+ 0.0
- pl -34.81+ 0.00 -35.85+ 0.00 [ = pl -36.26 + 0.00 pl -34.76 + 0.00

- 3000

3000 -1 3000 -1 3000

2000 E 2000 - 2000 - 2000

1000 J 1000 - 1000~ ] 1000

50 10‘0 50 1(;0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (1, 4 8) TVC(c,b Ch) (1, 4 9) TVC(c,b, Ch) (1, 4 10) TVC(c,b Ch) (1, 4 11)
© 1 nuz, 208e+U5 / 25 -1z bu4e+u9 / 25 Cnan28ze+09 /25 - . 483e+09 / 25
4000 4300 0.0 4000 [ - pO 4453+ 00 4000 4484+ 0.0 4000 frmmm - p0 4451+ 0.0
365+ 0.0 Pl -35.52%0.00 [ 362+ 0.0 Pl -35.35: 0.00

3000

3000 - - 3000 - 3000 -

2000 - 2000 |- - 2000 - 2000 -

. o} C = 28.15 [ps/ch] ] wof- C = 28.29 [ps/ch]

1000 - 1000 : 1
0 55 0% = 0 5 T DL- =5 oo = 0 5 0% =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,4,12 TVC(C, bch) (1,4,13 TVC(cbch) (1,4,14 TVC(C, bch) (1,4,15

Tz, sbse+u9 / 25 T 1wz, rs4e+09 / 25 T, (z9e+U9 / 25 T rug.ulre+u9 / 25
1000 B, - pO 4379 0.0 4000 4404 0.0 4000 Fruue - pD 4419 0.0 4000 4403 0.0
pl -34.14 0.00 -34.92 % 0.00 [ pl 35+ 0.0 -35.02  0.00
3000 - — 3000 - 3000 - 3000 4
2000~ E 2000 — 2000 — 2000 4
- 1000 [ 1 1000
[ ~ _ - ] . 1 . 4
woo- C = 29.29 [ps/ch]™ M o0op ]
- - [ -
- - r . -
[ -
£ oo = 0 5 00— = 0 * 5 oo = 0 5 T

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,50

A~ 1z ysve+U9 / 25

. - po 4447+ 0.0
—

- pl -35.54+ 0.00

TP delay [ns]

TVC(cbch) (1,54

- rnuz.4z0e+09 / 25
4456+ 0.0
-36.01+ 0.00

TP delay [ns]

TVC(cbch) (1 5,8

1z gz8e+09 / 25

D
b - p 4489+ 0.0
' p1 -36.41% 0.00

TP delay [ns]

TVC(cbch) (1,512

T rnuzgzse+09 / 25
RN - po 4451 0.0
- p1 -35.12 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,51

A1 nuizaz0e+U9 [ 25
o - po 4415+ 0.0
- pl -35.36 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

-1 nu4nle+u9 / 25
4442+ 0.0
-35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (1 59

Tonae 3.2e+09/25
g - pO 4470+ 0.0
- pl -35.18+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 5 13

T inuz zoze+u9 / 25
4421+ 0.0
-35.07+ 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (1,5,2)

1000

A1z nzre+U9 /25
-—_~ - po 4419+ 0.0
[ - pl -35.49 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,556

-1 nuz bsze+u9 / 25
L - pO 4499+ 0.0
-
= p1 -36.76 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(1, 5, 10

T zpYe+u9/ 25
g - po 4467+ 0.0
i p1 -36.04 + 0.00

TP delay [ns]

TVC(cbch) (1,514

1000

~ g, 1 38e+09 / 25
b - pD 4409+ 0.0
[ pl -33.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,3

A7 1 nuz408e+U9 / 25
o) - po 4435+ 0.0
= pl 35+ 0.0

1 1
50 100

TP delay [ns]

TVC(c,b ch) (1 57

-1 nuz yzze+u9 / 25

L - pO 4459+ 0.0
-

A Pl -34.98+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

T, /bée+U9/25
b - pO 4472 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5 15

71 nuiz oove+u9 / 25
4443+ 0.0
-34.9+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

A~ 1z osse+U9 / 25
4424+ 0.0
-36.96 + 0.00

TP delay [ns]

TVC(cbch) (1,64

e, - pO

- pl

S a2 84e+09 / 25
4463+ 0.0
-36.49 + 0.00

TP delay [ns]

TVC(cbch) (1 6,8

T zz1e+09/25
4422+ 0.0
-34.65+ 0.00

1
o 50 00

TP delay [ns]

TVC(cbch) (1,6,12

~1nuiz.458e+09 / 25
4423+ 0.0
-36.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6.1)

S rnuguLre+u9 /25
4455+ 0.0
-36.46 + 0.00

e - ’JO
- pl
[ C=27.43 [ps/chi=

TP delay

TVC(c,b ch) (1, 6

e - pO

- pl

[ns]

-1 nug.U34e+U9 / 25
4466 + 0.0
-35.94 + 0.00

TP delay

TVC(c,b ch) (1 6,9

- DO
pl

[ns]

T nu. 7b3e+u9 / 25
4430+ 0.0
-34.27+ 0.00

[ C=29.18 [ps/ch]™._
-'\-

56 150
TP delay [ns]

TVC(c,b Ch) (1, 6 13

- - PO

p1

~ 1 nus.ubse+u9 / 25
4415+ 0.0
-35.2+ 0.0

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

TVC(cbch) (1,6,2)

= - PO

- p1

A1, 1sze+U9 / 25
4463+ 0.0
-37.17 + 0.00

TP delay

TVC(cbch) (16,6

1000

= - po

- pl

[ns]

- 1z 9oobe+u9 / 25
4459+ 0.0
-35.26 + 0.00

TP delay

TVC(eb.oh)=(1, 6, 10

[ns]

5,10)
11z, 0u4e+09 / 25
4000 e’ - po 4430+ 0.0
b pl -34,04+ 0.00
3000 :— _:
2000 :— _:
oo C = 29.37 [ps/ch] =, 7
1 L -:
o 50 100
TP delay [ns]

4000
3000

2000

TVC(cbch) (1,614

1000

-1 nuizpose+U9 / 25
4417+ 0.0
-35.21+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3)

- - PO

AT 1nuz4/1e+U9 /25
4438+ 0.0
-35.78 + 0.00

- pL

1
100

TP delay [ns]

TVC(c,b ch) (1 6,7

L. - 0

D pl

-1 U byye+u9 / 25
4430+ 0.0
-34.54 + 0.00

50

1
100

TP delay [ns]

TVC(c,b ch) (1, 6

- - pO
pL

AR bu=e+u9 125
4413+ 0.0
-33.74+ 0.00

F ¢ =29.64 [psich] .,

1
100

TP delay [ns]

TVC(c,b ch) (1, 6 15

T inaig r11e+u9 /25
4391+ 0.0
-35.13+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,0

T rnuiz4i/e+09 /25

L. - pO 4444+ 0.0
-

- pl -35.69+ 0.00

TP delay [ns]

TVC(cbch) (17,4

S bze+u9 / 25

L - pO 4448+ 0.0
=

A p1 -35.65:+ 0.00

TP delay [ns]

TVCebeh)=(1,7,8

1z pzoe+U9 / 25
L - pO 4424+ 0.0
- pl -35.83+ 0.00

TP delay [ns]

TVC(cbch) (1,7,12

1 nuzpo4e+U9 / 25
L - po 4407+ 0.0
pl -34.49+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,1

A~ 1 nuizbbze+u9 / 25
- - po 4436+ 0.0
p1 -36.1% 0.0

TP delay [ns]

TVC(c,b ch) (1, 7

-1 nu (44e+09 / 25
4438+ 0.0
-36.45+ 0.00

TP delay [ns]

TVCEebeh)=(1,7,9

-1 nuiz.ozae+u9 / 25
4406+ 0.0
-34.86 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 7 13

Tonae z.3e+09/25
L - pO 4412+ 0.0
p1 -35.67 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (1,7,2)

A~ 11z, po8e+U9 / 25
e ) - po 4430+ 0.0
[ - pl -35.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (17,6

-1 nuz buze+u9 / 25
=Y - pO 4422+ 0.0
[ pl -35.97 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 7, 10

T8z (e+09 / 25
L - po 4415+ 0.0
3 p1 -34.86 % 0.00

3000

TP delay [ns]

TVC(cbch) (1,7,14

T 1nuizpo/e+U9 / 25
- pD 4412+ 0.0
N - pl -34.63+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,3

A7 1 nuizobze+U9 / 25
Ee - po 4452 0.0
- pl -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (1 7,7

-, 615e+09 / 25
RN - pO 4417+ 0.0
pl -36.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (L7,

1)
~ 1 nuzg43e+u9 / 25
£ - pO 4428+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 7 15

- 1 nuz 3ae+U9 / 25
4405+ 0.0
-34.88 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0)

X~ 1wz 5s4e+09 / 25
4410+ 0.0
-36.02+ 0.00

TP delay

TVC(cbch) (18,4

- - PU

p pL

[ns]

- nuz 158e+09 / 25
4436+ 0.0
-37.57 + 0.00

TP delay

TVC(cbch) (1 8,8

L. - po

- p1

[ns]

©1nuiz414e+09 / 25
4426+ 0.0
-36.37 + 0.00

TP delay

TVC(cbch) (1,812

[ns]

1z 3use+u9 / 25
4414+ 0.0
pl -35.76 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,1)

o - po

- pL

AT 1 nuig, 18be+U9 / 25
4469+ 0.0
-36.87 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 8

-1 nuB.U33e+u9 / 25
4468+ 0.0
-37.17 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1 8,9

- - PO

pl

T nu3g1e+u9 / 25
4401% 0.0
-35.21+ 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (1, 8 13

T nuzbule+u9 / 25
4393+ 0.0
-34.39+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,8,2)

= - PO

- p1

A1, r30e+09 / 25
4458+ 0.0
-36.65+ 0.00

TP delay

TVC(cbch) (1,86

- - o

- pl

[ns]

- g 2pye+u9 / 25
4438+ 0.0
-36.21+ 0.00

TP delay

TVC(eb,oh)=(1, 8, 10

[ns]

8, 10)
11z p041e+09 / 25
2000 | - po 44214 0.0
b p1 -35.02 + 0.00
3000 -— _-
2000 :— _:
wol- C = 28.56 [ps/ch= 1
0 5(') 10'0
TP delay [ns]

4000

3000

2000

TVC(cbch) (1,814

1000

- - pD

T, rzze+09 / 25
4435+ 0.0
pl -36.02 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

K™ 1 nuiz44/e+09 / 25
4435+ 0.0
-36.63+ 0.00

- pL

- - PO

TP delay [ns]

TVC(c,b ch) (1 8,7

E - 0

pl

- rnuyree+u9 / 25
4411+ 0.0
-36.11 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

- - p°

pl

- 41be+U9 125
4414 £ 0.0
-35.24+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 8 15

-1 nuiz 10se+u9 / 25
4412+ 0.0
-35.18 + 0.00

1
100

TP delay [ns]



TVC(cbch) (1,9,0)

4000

3000

2000

1000

T rnugzr4e+09 /25
4474+ 0.0
-36.91+ 0.00

TP delay [ns]

TVC(cbch) (1,94

4000

3000

2000

1000

Tz b rze+u9 / 25
4456+ 0.0
-36.21+ 0.00

TP delay [ns]

TVC(cbch) (1 9,8

4000

3000

2000

1000

©1nuiz04ze+09 / 25
£ - pO 4392+ 0.0
- pl -34.03+ 0.00

0

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 9 12

4000

3000

2000

1000

T zz1e+u9/25
- - po 4382+ 0.0
pl -34.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,91

AT 1 nuiz,184e+U9 / 25
- N po 4423+ 0.0
- pl -35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

“nu /v1e+u9 / 25
4475+ 0.0
-36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

- uz.dgse+u9 ] 25
N - pO 4388+ 0.0
pL -33.81+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 9 13

Tinuz13/e+u9/ 25
4358+ 0.0
-33.47+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

2000

1000

1000
:
:
meo;- C =28.83 [ps/ch]™_

L " T

4000
3000
2000

1000

TVC(cbch) (1,9,2)

A 1nug zz3e+09 /25
- - po 4466+ 0.0
o
[ p1 -36.06 + 0.00

TP delay [ns]

TVC(cbch) (1,96

TP delay [ns]

TVC(eb.oh)=(1, 9, 10

T a2 8oe+09 /25
g - pO 4464+ 0.0
P p1 -36.55 + 0.00

3000

1 nuiz.a49e+09 / 25
E - po 4403+ 0.0
b -, p1 -34.69 % 0.00

TP delay [ns]

TVC(cbch) (1,914

Tz ysze+U9 / 25
4410+ 0.0
-34.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,3

A~ 1 nuiz, (9ye+U9 / 25

- - po 4492+ 0.0
‘eeea

- pl -38.01% 0.00

TP delay [ns]

TVC(c,b ch) (1 9,7

-1 nug.L4/e+U9 / 25

L - pO 4450 0.0
-

' pl -35.21% 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

AL 5/::e+u9/25
4370+ 0.0
-33.05+ 0.00

L ¢ =30.26 [ps/ch] .,

TP delay [ns]

TVC(c,b ch) (1, 9 15

Tonan z11e+U9/25
- - pO 4360+ 0.0
pl -33.44+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

1 nuizp4pe+U9 / 25
—_~ - pO 4420+ 0.0
p1 353+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 10 4

S rnunz.ple+u9 /25

L - pO 4429+ 0.0
—

A p1 -34.24+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (1,10,8

1 nuz.goge+U9 / 25
E - pO 4419+ 0.0
pl -35.79+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 12

~ iz 1uze+09 / 25
L - po 4430+ 0.0
pl -33.62+ 0.00

FC = 29.74 [ps/ch] = ]

L n n n n 1 n
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,10,1)

A7 1 nuiz, (ove+U9 / 25

- - po 4449+ 0.0
-

- pl -35.32+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 10 5

~ 1 nun Z.obe+u9 / 25
4410+ 0.0
-34.6 + 0.0

TP delay [ns]

TVC(Ebeh)=( 1, 10,9

~ 1 nuiz.z44e+09 / 25
4392+ 0.0
-34.68 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 13

~ 1 nuiz.ooze+u9 / 25
4398+ 0.0
-31.67+ 0.00

rC=31.57 [ps/ch]

L
50 0%

TP delay [ns]

4000

3000

2000

1000

4000

2000

4000

3000

2000

1000

0

4000
3000
2000

1000

TVC(CbCh) (1, 10 2)

~ 1 nuzpsse+U9 / 25
e ) - pO 4426+ 0.0
i p1 -34.42 + 0.00

- C = 29.05 [ps/ch]™=

1
50 100

TP delay [ns]

TVC(c,b ch) (1, 10 6

1000

-1 nuz boye+u9 / 25
i - pO 4424+ 0.0
P p1 -34.84+ 0.00

3000

TP delay [ns]

TVC(cbch) (1, 10 10

T rnuizy4re+09 / 25
L - po 4436+ 0.0
[ p1 -34.93+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 10 14

Tz, 142e+09 / 25
4416+ 0.0
-33.71+ 0.00

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

A7 1 nuz.4uze+U9 / 25
_ - po 4395+ 0.0
p1 -33.97 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (1, 10 7

-1 nuz yobe+u9 / 25
ke S - pO 4411 £ 0.0
D p1 -34.33+ 0.00

TP delay [ns]

TVC(eheh)=(1, 10, 11

-1 nurg.yuYe+u9 / 25
4465+ 0.0
-36.73+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 15

"1 nuizysle+u9/ 25
4357+ 0.0
-32.66 + 0.00

- C = 30.61 [ps/ch] = 1

PR IR T
50 100

TP delay [ns]



TVC(cbch) (1,11,0) TVC(cbch) (1,11,1) TVC(cbch) (1,11,2) TVC(cbch) (1,11,3)

a2 re+09 /25 AT 1 nuzB3be+u9 / 25 T g, 144e+09 / 25 AT 1 nuzblse+u9 / 25
4000 [ - pO 4452+ 0.0 4000 o, - po 4462+ 0.0 4000 fam - pO 4501+ 0.0 4000 [ - po 4462+ 0.0
L) " . "etee
- pl -37.14+ 0.00 - pl -36.34 + 0.00 [ = pl -37.2+ 0.0 - pl -36.21+ 0.00
3000 B 3000 [ - 3000 - 3000 E
2000 9 2000 [ B 2000 B 2000 4
- L
-
- L ]
1000 = w00 C = 27.52 [pS/ChT—_ - 1000~ ] 1000 -
- [
- L
-
L= [ I
0 50 00 0 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,11,4) TVC(cbch) (1,11,5) TVC(cbch) (1,11,6) TVC(cbch) (1,11,7)
- Uz p3/e+u9 /25 - 1t Us3e+U9 / 25 -1, r33e+09 /25 -1,/ (5e+09 / 25
4000 e N - pO 4464+ 0.0 4000 4465+ 0.0 4000 e\ - pO 4445+ 0.0 4000 [ama ) - pO 4416+ 0.0
- pl -35.86 + 0.00 -35.99:+ 0.00 [ = pl -35.72+ 0.00 pl -35.04 % 0.00

- 3000

3000 -1 3000 -1 3000

2000 - 2000 -1 2000 - 2000

1000 — 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,118 TVC(cbch) (1,11,9 TVC(cbch) (1,11, 10 TVC(cbch) (111,11

ALK b4)1e+09 125 T ﬂé):vE‘*Ug 125 LSRRl bb4)e+09/25 -, /‘Jé)eﬂlg 125

4000 4419+ 0.0 4000 4411+ 0.0 4000 - po 4458+ 0.0 4000 fRuumm - p0 4467+ 0.0

359+ 0.0 359+ 0.0 [ pl -35.81 0.00 pL -35.85+ 0.00
3000 — 3000 = 3000 ] 3000 —
2000 4 2000 B 2000 ] 2000 |- E
1000 ] 1000 ] wool- C = 27.92 [ps/ch]D wof C = 27.89 [ps/ch] ]
% EY 0 0 e T % EY oo 0 e 0o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,11, 12 TVC(cbch) (1,11,13 TVC(cbch) (1,11, 14 TVC(cbch) (1,11,15)

X~ 1w ysoe+U9 / 25 T g, 1ube+u9 / 25 X~ 1rnuig 181e+U9 / 25 T g usLe+u9 / 25
4000 [ ) - po 4420+ 0.0 4000 4438+ 0.0 4000 [\ - po 4454+ 0.0 4000 4463 £ 0.0
pl -35.53 + 0.00 -35.39 + 0.00 [ = pl -36.24 + 0.00 -36.52+ 0.00
3000 7 3000 1 3000~ 1 3000 -1
2000~ 1 2000 -1 2000~ -1 2000 -1
N ; - ]
100 ~ = - . L~ = m -
ool C = 28.15 [ps/ch]™ 1000 w0 C = 27.60 [ps/cht=\ 1000
- [ ]
- " L -'. -
- - " "
| 1 L L] N | I L 1
0 50 T00 0 50 T00 0 50 T00 0 50 T00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b Ch) (1, 12 0) TVC(c,b Ch) (1,12,1) TVC(c,b Ch) (1, 12 2) TVC(c,b Ch) (1,12,3)
~ 1 nuz,4uye+U9 / 25 AT rnun gz, 73e+u9 /25 Tz 483e+09 / 25 AT 1 nuiz, (89e+U9 / 25
4000 0 N - pO 4374% 0.0 4000 o N\ - po 43971 0.0 4000 fow N - pO 4394% 0.0 4000 [ - po 44141 0.0
- Pl -34.66+ 0.00 - pl 3505 0.00 [ = pl -34.8+ 0.0 Pl -34.26% 0.00

3000

1 3000

- 3000 - 3000 -

2000 — 2000 B 2000 2000 F

1000 = 1000

100 C =29.19 [pS/Chi-'- ]

= 1000

_L 1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,12 4) TVC(cbch) (1,12,5) TVC(cbch) (1,12,6) TVC(cbch) (1,12,7)
-z b83e+u9 / 25 ~1nuz4p/e+09 / 25 - gzoe+u9 / 25 -1 nug 194e+09 / 25
4000 P - pO 4405+ 0.0 4000 o N\ - pO 4410+ 0.0 4000 fow N - pO 4424+ 0.0 4000 4393+ 0.0
- pl -35.00+ 0.00 - pL -35.44 + 0.00 [ = pl -35.12+ 0.00 -34.8+ 0.0

3000

-1 3000 - 3000 - 3000

2000 -1 2000 - 2000 - 2000

1000 - 1000 -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,12,8 TVC(, bch) (1,12,9 TVC(cbch) (1,12,10 TVC(c, bch) (1,12, 11

S, N)ve-wg 125 T, :v)JE+U9 125 RIS ab)e+ua/25 T, 434)e+u9 125
4000 o N - pO 4419+ 0.0 4000 - pO 4386+ 0.0 4000 fuenn - DO 4422+ 0.0 4000 4385+ 0.0
- pl -35.14+ 0.00 pL -33.55+ 0.00 [ pl -34.62:+ 0.00 -33.79+ 0.00
3000 - - 3000 [~ - 3000 — — 3000 4
2000 B 2000 [ - 2000 ' - 2000 -
L ™ ] [~ _ = w0of ¢ = = N
w0 C = 28.46 [ps/ch]= woo C = 29.80 [ps/ch] ™, r C=28.88[ps/ch]™~. 1 1000 4
1 - 1 - 3 1 -- 0 -
0 50 100 50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,12,12 TVC(cbch) (112,13 TVC(cbch) (112,14 TVC(cbch) (1,12,15

AL ::uz)ewg 125 T g, :m)ewg 125 T, ::02e+09 125 o au2e+\)9 125
4000 fo s - po 43645 0.0 4000 2 o - po 4372+ 00 4000 - pD 4385+ 0.0 4000 4370£ 0.0
p1 -34+ 0.0 p1 -34.96 + 0.00 L pl -35.22+ 0.00 -34.34+ 0.00
- L 1
3000~ . 3000 - 3000~ -1 3000 1
2000~ -1 2000 - - 2000~ -1 2000 .
' - [ -
- - L - ]
L _ - ; L — ] N — n -
w00l C = 29.41 [ps/ch]™= wooi- C = 28.60 [ps/ch]= w0 C = 28.40 [ps/ch= 1000
- -
- - + - - -
. " " "
L L - L I o 1 -
50 100 50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (1,13,0) TVC(cbch) (1,13,1) TVC(cbch) (1,13,2) TVC(cbch) (1,13,3)
K™ 4/e+09/25 AT 1 nus.Lrse+u9 /25 © g, r50e+U9 / 25 AT 1 nuz.4n4e+U9 / 25
4000 o\ - po 4449+ 0.0 4000 [ - po 4472+ 0.0 4000 [ - pO 4461+ 0.0 4000 fmn_\ - po 4452+ 0.0
- pl -37.45+ 0.00 ) pl -36.77 + 0.00 : = pl -36.87 + 0.00 - pl -36.24 + 0.00

3000

N 3000 -1 3000 =1 3000

2000 -1 2000 - 2000 = 2000

1000 B 1000 B 1000 B 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,13,4) TVC(cbch) (1,13,5) TVC(cbch) (1,136) TVC(cbch) (1,13,7)
- 1 1ui2.486e+09 / 25 - 1nu.bare+u9 [ 25 - ruzylze+v9 | 25 - nu.rare+u9 /25
4000 4440+ 0.0 4000 4457 £ 0.0 4000 e - pO 4476+ 0.0 4000 fmes 2\ - pO 4442 £ 0.0
-35.21+ 0.00 -35.5+ 0.0 [ = pl -35.97 + 0.00 pl -35.62:+ 0.00

- 3000

3000 -1 3000 - 3000

2000 -1 2000 - 2000 - 2000

1000 - 1000 - 1000 : —: 1000 -
1 1 - 1 -
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b, ch) (1,13,8) TVC(c,b ch) (1,13,9) TVC(c,b ch) (1,13,10) TVC(c,b ch) (1,13,11)
©1nuiz.418e+09 / 25 -1 nuiz.z04e+09 / 25 ~1nuzb14e+09 / 25 ~nuz fble+u9 / 25
4000 e N - pO 4408+ 0.0 4000 o N\ - pO 4422+ 0.0 4000 e N - DO 4435+ 0.0 4000 fan N - p0 4444+ 0.0
- pl -34.03 + 0.00 p1 -34.04+ 0.00 [ p1 -35.37+ 0.00 p1 -34.83+ 0.00

= 3000 |~

3000 - 3000 -1 3000 -

2000 2000 | = 2000

. 2000

] wof C = 28.27 [ps/ichFY ] wool C = 28.71 [ps/ch]'-

1000 1 1000 - -
1 1 L 1 1 - 1 L 1 -
0 50 100 50 100 0 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b ch) (1,13,12) TVC(c,b ch) (1.13,13) TVC(c,b ch) (1,13,14) TVC(c,b ch) (1,13,15)
T, (52e+09 / 25 T nus.u4ze+u9 / 25 Tz (e+09 /25 -1 nus.yule+u9 / 25
4000 4446+ 0.0 4000 4453 0.0 4000 - PD 4420+ 0.0 4000 4455+ 0.0
-35.61+ 0.00 -35.87+ 0.00 : pl -35.27 + 0.00 -35.96 + 0.00

3000

-1 3000 - 3000~ - 3000

2000 - 2000 - 2000 |~ - 2000

[ 5
7 1 wof C = 28,35 [ps/chy ;
- - [ "- ] -
1 - 1 L - 1 o 0 1 L
50 100 50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 14 0)

T rnusurse+u9 / 25

- - pO 4467+ 0.0
—

- pl -36.67+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 14 4

-1z bobe+u9 / 25
= - pO 4409+ 0.0
= Pl -35.74% 0.00

TP delay [ns]

TVC(cbch) (1,14,8

1z z48e+09 / 25
RN - pO 4360+ 0.0
pl -32.87 + 0.00

FC =30.42 [ps/ch] . 1

0

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 14 12

T, (s8e+U9 / 25
4442+ 0.0
-35.8+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,14,1)

AT 1 nuz, ssBe+U9 / 25
—__ - po 4429+ 0.0
- pl -36.13+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 14 5

-1 U 3bYe+u9 / 25
4458 + 0.0
-36.77 + 0.00

TP delay [ns]

TVCEebeh)=( 1, 14,9

-1 nuiz.pbae+u9 / 25
4375+ 0.0
-34.05+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 14 13

~inu rble+u9 /25
4439+ 0.0
-36.38 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

TVC(CbCh) (1, 14 2)

©nuzsuse+U9 / 25
- - pO 4469+ 0.0
™ nen
[ p1 -36.7 + 0.0

3000

TP delay [ns]

TVC(c,b ch) (1, 14 6

-1 nu,b49e+09 / 25
= - pO 4408+ 0.0
[ Pl -36.32: 0.00

TP delay [ns]

TVC(e b eh)=( 1, 14,10

T nub31e+U9 / 25
- po 4398+ 0.0
b -, p1 -33.84+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 14 14

1000

- 1w, 5z4e+09 | 25
- pD 4448+ 0.0
pl -36.12:+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,14,3)

AT 1 nuzbroe+u9 / 25
_ - po 4461+ 0.0
- pl -36.9+ 0.0

TP delay [ns]

TVC(c,b Ch) (1, 14 7

-1 u.u34e+09 / 25
£ S - pO 44121 0.0
= Pl -35.32: 0.00

TP delay [ns]

TVC(eheh)=(1, 14, 11

-1 nuz.zu1e+u9 / 25
o - pO 4384+ 0.0
pl -33.59 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 14 15

T nuiz.a4e+09 /25
4438+ 0.0
-35.79+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 15 0)

©ruzouze+U9 / 25
B - pO 4444+ 0.0
- pl -37.88+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 15 4

- 11U 305e+U9 / 25

- - po 4502+ 0.0
o™

- pl -36.29 + 0.00

TP delay [ns]

TVC(cbch) (1,15,8

©1nuzpsge+u9 / 25
e - pO 4458+ 0.0
- pl -35.09+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 15 12

Tz sy1e+u9 / 25
- pO 4403+ 0.0
pl -34.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,15,1)

AT 1 nuzyz1e+u9 /25

L - po 4459+ 0.0
-

- pl -37.08+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 15 5

~1nuzbbre+u9 / 25

L - pO 4464+ 0.0
‘-

- p1 -36.04 + 0.00

TP delay [ns]

TVCebeh)=( 1, 15,9

T nuizg0e+u9 / 25
L - pO 4449+ 0.0
p1 -35.27 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 15 13

-1 nuiz.ozae+u9 / 25
4404+ 0.0
-34.49+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(CbCh) (1, 15 2)

©rnuzgoze+U9 / 25
- - pO 4483+ 0.0
.
[ p1 -37.96 + 0.00

3000

TP delay [ns]

TVC(c,b ch) (1, 15 6

1000

Tz goe+u9 / 25
L - pO 4468+ 0.0
-
[ pL -35.09 0.00

3000

TP delay [ns]

TVC(cbch) (1, 15 10

1 nuz.gg4e+09 / 25
4455+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(c,b Ch) (1, 15 14

T2y rse+09 / 25
4427+ 0.0
-33.8+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,15,3)

AT 1nuiz (u/e+u9 /25

- - po 4466 + 0.0
'oaea

- pl -36.79+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 15 7

-1 nui yyle+u9 / 25
- pO 4404+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(eheh)=(1, 15, 11

-1 nuiz ozye+u9 / 25
4464 £ 0.0
-35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 15 15

T nusulze+u9 /25
4434+ 0.0
-34.18 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,0

~rnug.uLoe+U9 / 25

. - pO 4464+ 0.0
-

- pl -37.26 + 0.00

TP delay [ns]

TVC(cbch) (2,0,4

-1z, r9pe+u9 / 25

L - pO 4458+ 0.0
e

"\ p1 -34.92:+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2 0,8

©1nuiz4r9e+09 / 25
L\ - pO 4490+ 0.0
- -36.03 + 0.00

TP delay [ns]

TVC(cbch) (2,0,12

1z, ss4e+09 / 25
e - po 4389+ 0.0
- pl -33.74+ 0.00

L n n n n 1 "
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,01

A~ 1 nuiz,bsbe+u9 / 25
_ - po 4467+ 0.0
- pl -37.23+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,5

- nu 338e+U9 / 25
4419+ 0.0
-34.46 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (2 0,9

~ 1 nuig 1z5e+U9 / 25
4454+ 0.0
-34.58 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, O 13

T nui ro8e+u9 / 25
4414+ 0.0
-34.81+ 0.00

il
100

TP delay [ns]

4000

3000

2000

4000
3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,2)

1000

A1z B3ve+U9 / 25
- - po 4459+ 0.0
.
[ - pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (20,6

-1 nuz.49ze+09 / 25
4442+ 0.0
-35.21+ 0.00

TP delay [ns]

TVC(eb,oh)=(2, 0, 10

© 1 nuzg3ve+U9 / 25
4431+ 0.0
-35.1+ 0.0

TP delay [ns]

TVC(cbch) (2,0,14

- PD
p1

T rnuiz4/0e+09 / 25
4398+ 0.0
-34.34+ 0.00

50

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,3)

Tz se+u9/ 25

L. - pO 4458+ 0.0
o

) pl -36.26 + 0.00

TP delay [ns]

TVC(c,b ch) (2 0,7

-1 nu.4o8e+09 / 25
RN - pO 4400+ 0.0
p1 -34.01% 0.00

50 160
TP delay [ns]

TVC(c,b ch) (2, O

T ube+u9 125
g - pO 4418+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (2, O 15

1 nuiz osye+u9 / 25
RN - pO 4392+ 0.0
- p1 -33.76 + 0.00

PR IR T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,1,0)

A1, 1s0e+U9 / 25
4497+ 0.0
-39.91+ 0.00

| -
50 100

TP delay [ns]

TVC(cbch) (21,4

- 11z 40ae+09 / 25
B - pO 4407+ 0.0
A p1 -35.36+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 1,8

1 nuz,5o9e+09 / 25
b - pO 4450+ 0.0
- pl -36.65+ 0.00

TP delay [ns]

TVC(Cbch) (2, l 12

T z,.39e+u9/ 25
RN - po 4404+ 0.0
- p1 -34.61+ 0.00

L n n n n 1 "
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (21,1

T rug.uLse+u9 / 25
Fo. - pO 4482+ 0.0
- pl -38.85+ 0.00

TP delay [ns]

TVC(c,b ch) (2 1,5

-1 nuz.yaye+u9 / 25
4431+ 0.0
-35.42 + 0.00

TP delay [ns]

TVCebeh)=(2, 1,9

-1 nuz.ylye+u9 / 25
4440+ 0.0
-35.68 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, l 13

T nus.uloe+u9 / 25
Ee - pO 4475+ 0.0
- p1 -36.26 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

TVC(cbch) (2,1,2)

A1, Luse+U9 / 25
- - po 4480+ 0.0
[
[ p1 -37.49 + 0.00

3000

TP delay [ns]

TVC(cbch) (21,6

- rnuz.491e+09 / 25
_t - pO 4422+ 0.0
o p1 -35.68+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(2 1, 10

© 1 nuzpsze+u9 / 25
L - po 4462+ 0.0
™ anna
r - pl -35.36+ 0.00

3000

TP delay [ns]

TVC(cbch) (21,14

1000

a2 guse+u9 / 25
- pD 4446+ 0.0
3 — p1 -35.75+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3)

“ornunzyie+u9/ 25
Ee - pO 4469+ 0.0
- pl -37.48+ 0.00

TP delay [ns]

TVC(c,b ch) (2 1,7

- nu, rgze+u9 / 25
4432+ 0.0
-35.5+ 0.0

TP delay [ns]

TVC(c,b ch) (21,

T, /ue+u9/25
e S - pO 4439+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 1 15

- 1wz s3ae+U9 25
e - po 4424+ 0.0
- p1 -35.47+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,0

A1 1s1e+09 /25
B - PO 4404+ 0.0
- pl -35.18 + 0.00

TP delay [ns]

TVC(cbch) (2,24

-z, 395e+09 / 25
RN - pO 4406+ 0.0
p1 -36.76+ 0.00

TP delay [ns]

TVC(ebeh)=(2,2,8

Tz, 11e+09 /25
£ - pO 4426+ 0.0
- pl -34.98 + 0.00

TP delay [ns]

TVC(cbch) (2,212

1 nuz,5o9e+09 / 25
- - po 4407+ 0.0
pl -35.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,21

AT 1 nuzbrze+u9 /25
= - po 4429+ 0.0
- pl -36.11+ 0.00

TP delay [ns]

TVC(c,b ch) (2 2,5

-1 nu ggbe+u9 / 25
4438+ 0.0
-36.08 + 0.00

TP delay [ns]

TVCebeh)=(2,2,9

-1 nuiz 3yse+u9 / 25
L - pO 4438+ 0.0
= pl -34.73+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 2 13

T nui rbze+u9 / 25
4409+ 0.0
-35.09+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

TVC(cbch) (2,2,2)

AT rnug.z31e+09 /25
= - po 4458+ 0.0
e
[ p1 -36.28 + 0.00

TP delay [ns]

TVC(cbch) (2,2,6

- g 153e+09 / 25
L. - pO 4470+ 0.0
™
= p1 -36.86 + 0.00

3000

TP delay [ns]

TVC(Cbch) (2, 2 10

© 1 nuiz.ygse+U9 / 25
L - po 4420+ 0.0
i p1 -34.75 + 0.00

TP delay [ns]

TVC(cbch) (2,214

1000

T rnuig,104e+09 / 25
Y - pD 4433+ 0.0
[ = p1 -35.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,23

A1 nuig,uvve+u9 / 25

L - po 4470+ 0.0
"neee

- pl -37.39+ 0.00

TP delay [ns]

TVC(c,b ch) (2 2,7

- 1t Zoae+09 / 25

L - pO 4444+ 0.0
v

- pl -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (22,

=g, 4me+ug 125
- pO 4395+ 0.0
- pL -34.43 0.00

TP delay [ns]

TVC(c,b ch) (2, 2 15

Tinuiz.rb/e+u9 /25
4423+ 0.0
-34.86 + 0.00

TP delay [ns]



TVC(cbch)(230 TVC(cbch)(231) TVC(cbch)(232) TVC(cbch)(233

LSALA b)zue+09 /25 “rnung1ze+u9 /25 X~ rnuigsire+U9 /25 AT :?weﬂ)g 125
4000 [N\ - po 4431+ 0.0 4000 o - po 4479+ 0.0 4000 fmm_\ - po 4446+ 0.0 4000 e - po 4412+ 0.0
- pl -36.36+ 0.00 - pl -36.34 + 0.00 [ = pl -36.14 £ 0.00 pl -35.3+ 0.0
3000 1 3000 [ - 3000} ] 3000 [ 4
2000 T 2000 [ B 2000} ] 2000 [ —
1000 ] wor C =27.52 [ps/chT 7 1000 ] wor C = 28.33 [ps/ch]™ 7
0, 1 - 1 -
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2.3,4) TVC(cbch) (2,3,5) TVC(cbch) (2,3,6) TVC(cbch) (2,3,7)
- rnuz bsze+u9 / 25 - nu b3ze+u9 / 25 -1z 9o3e+u9 / 25 -1 nuzbb/e+u9 / 25
4000 4448+ 0.0 4000 4424+ 0.0 4000 fue, N\ - pO 4418+ 0.0 4000 4379+ 0.0
-36.41+ 0.00 -35.46 + 0.00 [ = pl -34.97 £ 0.00 -34.2% 0.0

3000

1 3000 - 3000 - 3000

2000 . 2000 -1 2000 -1 2000

1000 1 1000 N 1000

1000 -
0, 1 1 - 1 - 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2 3,8 TVC(cbch) (2 3, TVC(cbch) (2, 3 10 TVC(cbch) (2, 3

T, A)tsze-*ue 125 T, 29ue+u9 125 S, 1)1e+09/25 EEALEVX u421e+u9 125
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1000

TVC(cbch) (2,10, 14

T rnuzgz1e+09 / 25
4426+ 0.0
-34.7+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,10, 3)

AT 1L ruve+u6 / 25
peee, - po 4239+ 0.2
pl -34.41+ 0.01

TP delay [ns]

TVC(c, bch) (2,10,7

-1 nug /uye+u9 / 25
[Foses, - PO 4408+ 0.0
pl -34.76 + 0.00

TP delay [ns]

TVC(eh.eh)=(2,10, 11

- nuguLse+u9 / 25
- - p0 4457+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (210,15

T inuizzsle+u9/ 25
4397+ 0.0
-33.74+ 0.00

[ C =29.64 [ps/ch] ™,

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

A~ 11 yobe+U9 / 25
- - PO 4375+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (2, 11 4

= rnuz30/7e+u9 / 25
—_ - po 4396+ 0.0
A p1 -34.55+ 0,00

50 10'0
TP delay [ns]

TVC(cbch) (2,11,8

1 nuiz.pube+U9 / 25
== - PD 4395+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c,b Ch) (2,11,12

X~ 1z u4e+U9 / 25
. - PO 4404+ 0.0
pl -34.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,11,1)

AT 1 nuiz, (uze+u9 / 25
= - po 4428+ 0.0
- pl -35.93+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 5

~1nug obe+U9 / 25
4421+ 0.0
-35.26 + 0.00

TP delay [ns]

TVC(cbch) (2,11,9

-1 nuiz 3y0e+u9 / 25
L - pO 4409+ 0.0
- p1 -34.97 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 11 13

T nuiz.p18e+u9 / 25
4407+ 0.0
-34.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(CbCh) (2,11, 2)

A~ 11z yose+U9 / 25
= - po 4447+ 0.0
™ nen
[ - pl -35.98+ 0.00

TP delay [ns]

TVC(chh) (2, 11 6

-1 nuz.45ze+09 / 25
o - pO 4395+ 0.0
[ pl -35.17+ 0.00

TP delay [ns]

TVC(eb.ch)=(2, 11, 10

X~ 1z zzoe+U9 / 25
L - po 4403+ 0.0
[ pl -33.98 + 0.00

TP delay [ns]

TVC(c,b Ch) (2,11, 14

1000

X~ 1z pL/e+U9 /25
L - po 4416+ 0.0
[ pl -35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,11,3)

A~ 1 uizo /4e+09 [ 25
Ee - PO 4427+ 0.0
- pl -35.52+ 0.00

TP delay [ns]

TVC(CbCh) (2, 11 7

=1 nuiz,199e+09 / 25
= - pO 4382+ 0.0
pl -34.95+ 0.00

TP delay [ns]

TVC(Ebeh=(2, 11, 11)

nur 2.1e+09 /25
4385+ 0.0
-34.2+ 0.0

TP delay [ns]

TVC(c,b Ch) (2, 11 15

T nuizzoe+u9 /25
4421+ 0.0
-35.01+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 12 0)

~rnuznive+U9 / 25
—_~ - pO 4431+ 0.0
- p1 37+ 0.0

TP delay [ns]

TVC(Cbch) (2, 12 4

-1z, 89pe+09 / 25

L - pO 4477+ 0.0
‘v

- p1 -36.11 + 0.00

TP delay [ns]

TVC(cbch) (2,12,8

1 nuz.480e+09 / 25
RN - pO 4407+ 0.0
- pl -34.3% 0.0

1
50 00

TP delay [ns]

TVC(Cbch) (2, 12 12

Tz zzse+09 | 25
Lo - po 4405 0.0
pl -35.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,12,1)

A1 nug.uyze+u9 / 25

L. - po 4480 0.0
-

- pl -37.92+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 12 5

“rnug3re+u9 / 25

L. - pO 4478+ 0.0
-

- p1 -36.41% 0.00

TP delay [ns]

TVCEebeh)=(2 12,9

-1 nuiz r54e+09 / 25
4429+ 0.0
-34.95+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 12 13

Tonan 1 yoe+u9 /25
- - pO 4389+ 0.0
p1 -34.08 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 12 2)

~rnugsioe+U9 / 25
L - pO 4460+ 0.0
[
[ - pl -37.28+ 0.00

3000

TP delay [ns]

TVC(Cbch) (2, 12 6

-1 nuig,usbe+u9 / 25
L. - pO 4466+ 0.0
—
[ Pl -35.96% 0.00

3000

TP delay [ns]

TVC(e b eh)=(2, 12, 10

© 1z 102e+09 / 25
e - po 4394+ 0.0
[ p1 -34.17 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 12 14

T r37e+09 /25
fren, - pD 4394+ 0.0
[ pl -35.16 + 0.00

FC =28.44 [psich] ]

P R T
50 100

TP delay [ns]

TVC(Cbch) (2,12,3)

4000 fom - po

- pL

K-z e+u9 /25
4482+ 0.0
-36.87 + 0.00

3000

2000

1000

TP delay

TVC(c,b Ch) (2, 12 7

4000 famm - P°

[ns]

-1 nuz.y3le+u9 / 25
4459+ 0.0
p1 -36.39+ 0.00

3000

2000

1000

TP delay

TVC(eheh)=(2, 12, 11

4000 [uumn - pO

pl

[ns]

-1 nuiz oyoe+u9 / 25
4411+ 0.0
-33.89+ 0.00

3000 -

2000 -

wof C = 29.51 [ps/ch] ™,

TP delay

TVC(cbch) (2, 12 15

4000w - PO

p1

[ns]

71 nuiz b40e+U9 / 25
4410 0.0
-34.11 + 0.00

3000 -

2000 -

100 C = 29.32 [ps/ch]-'-.

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 13 0)

T rnwg.zzze+U9 /25

- - pO 4468+ 0.0
-

- pl -36.47 + 0.00

TP delay [ns]

TVC(Cbch) (2, 13 4

T g 1z3e+09 / 25
4516+ 0.0
-39.81+ 0.00

TP delay [ns]

TVC(cbch) (2,13,8

T rnuiz.40/7e+09 / 25
e - pO 4432+ 0.0
- pl -35.86+ 0.00

TP delay [ns]

TVC(Cbch) (2, 13 12

T zgse+u9/ 25
L - po 4409+ 0.0
p1 35+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2, 13 1)

S Zae+u9 ) 25
- - pO 4447+ 0.0
- pl -36.37 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 13 5

~rnuggre+u9 / 25
4501+ 0.0
-39.22 + 0.00

TP delay [ns]

TVCEebeN)=(2 13,9

~ 1 nuz 339e+U9 / 25
4389+ 0.0
-33.55+ 0.00

FC=29.81 [ps/ch] ™. 1
_ T
TP delay [ns]

TVC(c,b ch) (2, 13 13

Tinaz/1e+u9/25
- pO 4394+ 0.0
p1 -34.77 + 0.00

F C=28.76 [ps/ch]= 1
n g'ﬁ 10'0 -'-
TP delay [ns]

4000

3000

2000

1000

4000

2000

P
:
:
1000;- C=29.11 [ps/ch] == '

) o+ T

4000

3000

2000

TVC(CbCh) (2, 13 2)

T g in1e+U9 /25
- - pO 4470+ 0.0
[
P p1 -36.16+ 0.00

TP delay [ns]

TVC(Cbch) (2, 13 6

1000

TP delay [ns]

TVC(e b eh)=(2, 13, 10

-1 nug,185e+09 / 25
L - pO 4523+ 00
——
= Pl 3925+ 0.00

3000

~1nuiz.4ule+U9 / 25
L - po 4411+ 0.0
3 p1 -34.35+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 13 14

1000

~ 1 nuig.440e+09 / 25
L - pD 4431+ 0.0
3 = p1 -34.34+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,13,3)

AT 1nuiz, (42e+09 / 25

- - po 4472+ 0.0
"nee

& pl -36.86+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 13 7

-1 nuz.y3le+u9 / 25

L. - pO 4472+ 0.0
-

' p1 -38.11+ 0.00

] =
50 100
TP delay [ns]

TVC(ebeh)=(2,13, 11

T nugb1ze+u9 /25
Ee - pO 4408+ 0.0
p1 -35.17 + 0.00

TP delay [ns]

TVC(cbch) (2, 13 15

Tinuizyr1e+u9/ 25
- pO 4389+ 0.0
p1 -34.83+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (2, 14 0)

©rnuz4nse+U9 / 25
o - pO 4400+ 0.0
- pl -35.45+ 0.00

TP delay [ns]

TVC(Cbch) (2, 14 4

-1z, rope+09 / 25
N - pO 4430+ 0.0
- p1 -36.71 0.00

TP delay [ns]

TVC(cbch) (2,14,8

1 nuz5s8e+U9 / 25
RN - pO 4421+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(Cbch) (2, 14 12

~1nuiz.493e+09 / 25
4387+ 0.0
-34.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,14,1)

K-z, s0re+U9 1 25
E - po 4397+ 0.0
- pl -35.84 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 5

- U 3rye+u9 / 25
4495+ 0.0
-37.13+ 0.00

TP delay [ns]

TVCebeh)=(2, 14,9

Tinuzg/1e+u9 /25
E - pO 4460+ 0.0
A p1 -36.14 £ 0.00

TP delay [ns]

TVC(c,b ch) (2, 14 13

~ 1 nuiz gooe+u9 / 25
e, - PO 4383+ 0.0
p1 -35.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

2000

4000

3000

2000

1000

0

4000

3000

2000

TVC(CbCh) (2, 14 2)

© g szae+U9 / 25
= - pO 4431+ 0.0
=
[ p1 -35.72+ 0.00

TP delay [ns]

TVC(Cbch) (2, 14 6

1000

- rnuz r10e+09 / 25
e - pO 4430 0.0
P p1 -35.84+ 0.00

3000

TP delay [ns]

TVC(e b eh)=(2, 14, 10

T g zzoe+U9 / 25
RN - po 4459+ 0.0
b - pl -35.79+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 14

1000

~ 1z, rove+U9 / 25
- - pD 4400+ 0.0
[ pl -35.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,14,3)

AT 1nuig, (12e+U9 /25

= - po 4408+ 0.0
'oaea

- pl -34.47 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (2, 14 7

=1 nuag (uze+u9 / 25
- pO 4394+ 0.0
p1 -35.04+ 0.00

TP delay [ns]

TVC(ehch)=(2, 14, 11

" nuiz g 8e+u9 / 25
L - pO 4448+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(cbch) (2, 14 15

T nuiz.azoe+u9 / 25
4391+ 0.0
-34.96 + 0.00

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,15,0)

A1z ol re+u9 /25
fre S - po 4399+ 0.0
- pl -35.38+ 0.00

TP delay [ns]

TVC(Cbch) (2, 15 4

- rnuzgl/ie+u9 / 25
4428+ 0.0
-35.5+ 0.0

TP delay [ns]

TVC(cbch) (2,15,8

T,/ r9e+09 / 25
e - pO 4450+ 0.0
- pl -36.39 0.00

TP delay [ns]

TVC(Cbch) (2, 15 12

- a2 guve+u9 / 25
4422+ 0.0
-34.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,15,1)

AT 1 nuz.ss1e+U9 / 25
—_~ - po 4403+ 0.0
- pl -35.39+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 15 5

- 1nu 331e+09 / 25
4399+ 0.0
-34.57 + 0.00

50 150
TP delay [ns]

TVC(ebeh)=(2 15,9

-1 nuiz.a9ae+U9 / 25
L. - pO 4429+ 0.0
p1 -35.24.+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 15 13

~ 1 nuiz.uloe+u9 / 25
- pO 4371% 0.0
pl -34.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

2000

4000

3000

2000

4000

3000

2000

1000

TVC(CbCh) (2, 15 2)

~rnuzsive+U9 / 25
L. - pO 4429+ 0.0
e
[ - pl -35.39+ 0.00

TP delay [ns]

TVC(Cbch) (2, 15 6

1000

- rnun 3.02e+09 /25
L - pO 4456+ 0.0
P e
[ p1 -35.65+ 0.00

3000

TP delay [ns]

TVC(cbch) (2, 15 10

1000

0

T nuzbyle+u9 / 25
=N - po 4450+ 0.0
b p1 -36.44 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 15 14

T nug5s1e+U9 / 25
- - pD 4399+ 0.0
[ pl -34.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,15,3)

AT nuiz, (25e+U9 / 25

L. - po 4430+ 0.0
"eaea

- pl -35.39+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 15 7

- nun 3.05e+09 / 25
_ - pO 4410 0.0
= p1 -35.02:+ 0.00

-

TP delay [ns]

TVC(ehch)=(2, 15, 11

-1 nuzg1Ye+u9 / 25
4420+ 0.0
-34.5+ 0.0

TP delay [ns]

TVC(cbch) (2, 15 15

Tnanz53e+u9 / 25
L. - pO 4388+ 0.0
pl -32.44+ 0.00

PR R SRR |
50 100

TP delay [ns]



TVC(cbch) (3,0,0

4000

3000

2000

1000

AT g p3e+09 /25

- - po 4486+ 0.0
-

A pL -37.72 0.00

TP delay [ns]

TVC(cbch) (3,0,4

4000

3000

2000

1000

- 11z gole+u9 / 25

L. - pO 4471% 0.0
e

- pl -37.45+ 0.00

TP delay [ns]

TVC(cbch) (3 0,8

4000

3000

2000

1000

1 nuz5y0e+09 / 25
RN - pO 4356+ 0.0
- pl -33.35+ 0.00

0

1
50 00

TP delay [ns]

TVC(Cbch) (3, O 12

4000

3000

2000

1000

T 1yoe+u9/ 25
e - po 4418+ 0.0
p1 -35.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,01

AT 1 nuz s 0e+u9 / 25
=\ - po 4411+ 0.0
= pl -36.38 + 0.00

TP delay [ns]

TVC(c,b ch) (3 0,5

-1 nuz.bble+u9 / 25
4428+ 0.0
-36.26 + 0.00

TP delay [ns]

TVC(c,b ch) (3 0,9

- nuzb1ye+u9 / 25
e - pO 4385+ 0.0
p1 -33.76 £ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, O 13

T nuiz.a3se+u9 / 25
ke - pO 4394+ 0.0
pl -34.79+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

:
;
C =30.06 [ps/ch]-'-._

; : thr

4000

3000

2000

1000

TVC(cbch) (3,0,2)

TP delay [ns]

TVC(cbch) (3,06

A1z s ve+U9 / 25
L. - po 4439+ 0.0
.
[ p1 -36.92+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 0, 10

- g zzoe+u9 / 25
g - pO 4458+ 0.0
o= p1 -37.14+ 0.00

3000

- 2.41e+09/ 25
e - pO 4371+ 0.0
[ pL -33.27 + 0.00

TP delay [ns]

TVC(cbch) (3,0,14

Srna Zserud ) 25
fom - pD 4394+ 0.0
[ pl -35.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (30,3

T ruig.zsoe+u9 / 25

L - pO 4453 0.0
"eeea

- pl -36.71+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,7

“nuag /(1 e+u9 /25
ke - pO 4429+ 0.0
p1 -36.97+ 0.00

TP delay [ns]

TVC(c,b ch) (3, O

Sz ze+u9 125
e - pO 4373+ 0.0
p1 -34.07 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (3, O 15

T inaig r11e+u9 /25
e - pO 4395+ 0.0
- p1 -33.76 + 0.00

PR IR T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,0

A1, ryse+U9 / 25
—_~ - po 4415+ 0.0
- pl -36.94+ 0.00

TP delay [ns]

TVC(cbch) (31,4

T Zpbe+u9 / 25
_ - pO 44254 0.0
A p1 -35.78:+ 0.00

TP delay [ns]

TVC(cbch) (3 18

1z zsve+U9 / 25
== - PD 4371+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (31,12

Trnaizzie+09 /25
- - po 4379+ 0.0
pl -33.88+ 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (31,1

T rug.uoLe+u9 / 25

L. - pO 4435+ 0.0
-

= pl -36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

-1 nu bgse+u9 / 25
4410+ 0.0
-35.03+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,9

T inui rz3e+u9 / 25
e - pO 4381+ 0.0
p1 -35.17 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, l 13

T nuz.a1ve+u9 /25
e - pO 4400+ 0.0
pl -35.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,1,2)

X~ nuis, 110e+U9 / 25
- - po 4425+ 0.0
e
[ - pl -35.84 + 0.00

TP delay [ns]

TVC(cbch) (31,6

T 254e+09 / 25
4417+ 0.0
-35.71+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 1, 10

T 1nuz3y1e+U9 / 25
e - po 4367+ 0.0
[ p1 -34.16 + 0.00

TP delay [ns]

TVC(Cbch) (3, 1 14

1000

T zpye+u9/ 25
N - pD 4392+ 0.0
i - pl -34.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000
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TP delay

TVC(cbch) (39,4

. - b0
- pl

[ns]

S 258e+u9 /25
4434+ 0.0
-34.79 + 0.00

50

1
100

TP delay [ns]

TVC(cbch) (3 9,8

T rnuz.4zze+09 / 25
== - PD 4390+ 0.0
p1 -34.08+ 0.00

0 50

1
100

TP delay

TVC(Cbch) (3, 9 12

[ns]

TP delay

9, 12)
1nuiz411e+09/ 25
RN - po 4441+ 0.0
pl -35.55+ 0.00
rC=28.13[ps/ch]™ 1
1 1 .-'
0 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9.1)

e - PO
& pL

T 2.sse+u9 / 25
4451+ 0.0
-35.32+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3 9,5

L. - 0

- pl

“1nuzyrae+u9 / 25
4456 + 0.0
-35.64 + 0.00

TP delay [ns]

TVC(c,b ch) (3 9,9

< urzdrze+9 ] 25
=Y - pO 4394+ 0.0
pL -34.43 £ 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (3, 9 13

[, - PO

p1

-1 nuiz bboe+u9 / 25
4419+ 0.0
-35.7+ 0.0

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9,2)

- - PO

& p1

X~ 11z osoe+U9 / 25
4460+ 0.0
-35.59+ 0.00

TP delay

TVC(cbch) (39,6

- - PO

[ns]

T b 3e+u9 / 25
4426+ 0.0
pl -35.24 + 0.00

TP delay [ns]

TVC(eb,oh)=(3, 9, 10

T 31)3e+09/25

4000 [’ - pO 4401+ 0.0

: pl -34.1+ 0.0
3000 -— _-
2000 :— _:
oo C = 29.32 [ps/ch] =, 7]
1 L -:

Iy 50 100

TP delay [ns]

4000
3000

2000

1000

TVC(cbch) (3,9,14

~ 1z, 149e+09 / 25
4442+ 0.0
-36.8 + 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9,3)

- PO
pl

A7 1 nuiz.420e+09 / 25
4422+ 0.0
-34.44 + 0.00

L
50

1
100

TP delay [ns]

TVC(c,b ch) (3 9,7

- PO
pl

- 1nu y1e+u9 / 25
4426+ 0.0
-34.06 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 9

=g, M,emg 125
N - pO 4423+ 0.0
pL -34.94+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 9 15

T 1nuis 148e+U9 / 25
4443+ 0.0
-35.65+ 0.00

1
100

TP delay [ns]



TVC(cbch) (3,10,0) TVC(cbch) (3,10, 1) TVC(cbch) (3,10,2) TVC(cbch) (3,10,3)
© 1z, osse+U9 / 25 A~ 1 nuzbbre+u9/ 25 ~ 1 nuizpyse+u9 / 25 AT 1z syze+u9 /25
4000 frm N\ - pO 4450+ 0.0 4000 [ N\ - po 4461+ 0.0 4000 N\ - pO 4453+ 0.0 4000 e\ - po 4446+ 0.0
- pl -36.68+ 0.00 - pl -37.61+ 0.00 : - pl -37.12+ 0.00 - pl -35.41+ 0.00

- 3000

3000 1 3000 -1 3000

2000 — 2000 - 2000 2000F

1000 1 1000 -1 1000

wof C = 28.24 [ps/ch]R

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,10,4) TVC(cbch) (3,10,5) TVC(cbch) (3,10,6) TVC(cbch) (3,10,7)
- uiz,653e+09 / 25 -2 7oe+u9 / 25 - 1z, 195e+09 / 25 - 1z yQve+u9 / 25
4000 - - pO 4435+ 0.0 4000 ... - DU 4451+ 0.0 4000 o - pO 4439+ 0.0 4000 Fue 2\ - pO 4441+ 0.0
- pl -36.46 + 0.00 - pl -36.52:+ 0.00 [ pl -36.45 + 0.00 - pl -36.99+ 0.00

3000

T 3000 1 3000 - 3000

2000 -1 2000 - 2000 - 2000

1000 . 1000 -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3, 10 8 TVC(c, bch) (3, 10 TVC(cbch) (3, 10 10 TVC(c, bch) (3, 10 1

RRALEDS u)uewg 125 S 5218+U9 125 RRALEDN l¢3e+09/25 T ub:z)e+u9 125
4000 - PD 4437+ 0.0 4000 - DO 4429+ 0.0 4000 s - DO 4440+ 0.0 4000 fmu—ms - DO 4466 + 0.0
pl -36.32+ 0.00 pl -35.52+ 0.00 : pl -35.64 + 0.00 pl -34.49 + 0.00
3000 1 3000 - -1 3000 -— _- 3000 T
2000 T 2000 - 2000 -_ _- 2000 1
1000 . wor C = 28.15 [ps/ch])  +] oo C = 28.06 [ps/chl= o0 C =28.99 [ps/ch]™. 1
L L7 oL I L om] 0 -
50 100 0 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (310,12 TVC(cbch) (310,13 TVC(cbch) (3.10,14 TVC(cbch) (3,10,15

Tz 3use+u9 / 25 -1z osse+u9 / 25 T nuiLyloe+u9 / 25 T 2.63e+09 / 25
4000 4397+ 0.0 4000 4420% 0.0 4000 Foeme - PD 4393 0.0 4000 4413 0.0
-33.79. 0.00 -33.44 £ 0.00 X pl 345+ 0.0 -34.71+ 0.00
3000 7 3000 - 3000 - 3000 -
2000 ] 2000 . 2000 — 2000 _
X -
- -
- L A ] ™
- - =
1000 B [~ _ - ] 1000 C = = B 1000 = . - 7]
- w00 C = 29.91 [pS/Ch] - C=28.98 [pS/Ch] - ] -
- - X - ] -
- - - -
- - 3 -1 -
P B S S L1 M T o 1 P B P MR T
50 100 50 00 50 100 50 00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (3,11,0)

A1, f (oe+U9 / 25
e - PO 4425+ 0.0
- pl -36.49 + 0.00

TP delay [ns]

TVC(cbch) (3, 11 4

-1z, rye+u9 / 25
.\ - pO 4398+ 0.0
= Pl -34.99: 0.00

TP delay [ns]

TVC(cbch) (3, 11 8

1 nuz 335e+09 / 25
RN - pO 4434+ 0.0
- p1 3551 0.00

TP delay [ns]

TVC(c,b Ch) (3, 11 12

Tz 313e+09 / 25
E - po 4390+ 0.0
pl -34.61+ 0.00

TP delay [ns]

TVC(CbCh) (3,11,1)

ve+u9 /25
4413+ 0.0
-35.42+ 0.00

Ao g

4000 5, - po
- pl

3000

2000

1000

TP delay

TVC(c,b Ch) (3, 11 5

4000

[ns]

=1 Ui bgbe+u9 / 25
4339+ 0.0
-33.12+ 0.00

3000

2000

w0 C =30.19 [ps/ch] =

50 150
TP delay

TVC(c,b ch) (3, 11

4000 5, - DO

[ns]

~ 1 nuz 334e+09 / 25
4410+ 0.0
p1 -35.16+ 0.00

3000

2000

wof C = 28.44 [ps/ch

TP delay

TVC(c,b ch) (3, 11 13

4000 [, - PO

p1

[ns]

-1 nuiz.byqe+u9 / 25
4366+ 0.0
-33.94+ 0.00

3000

2000 -

00 C = 29.46 [ps/chT'-.

TP delay

[ns]

4000

3000

2000

1000

4000

2000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (3,11, 2)

A1z ysze+U9 / 25
= - po 4432+ 0.0
o
N - pl -35.96 + 0.00

TP delay [ns]

TVC(chh) (3, 11 6

1000

- rnuggz3e+u9 / 25
& - pO 4387+ 0.0
i = p1 -33.87 + 0.00

3000

TP delay [ns]

TVC(e,Deh)=(3, 11, 10

X~ 1wz 188e+09 / 25
=Y - po 4401+ 0.0
[ p1 -33.54 % 0.00

C =29.82 [psich] ..

TP delay [ns]

TVC(c,b Ch) (3,11, 14

X~ 11z posse+U9 / 25
- po 4353+ 0.0
pl -33.14+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,11,3)

A1z osse+u9 / 25
= - po 4385+ 0.0
p1 -35.07 + 0.00

TP delay [ns]

TVC(CbCh) (3, 11 7

-1 nu 393e+u9 / 25
- pO 4349+ 0.0
p1 -33.50+ 0.00

50 160
TP delay [ns]

TVCEDe=(3, 11, 11

"1 nuiz.p18e+u9 / 25
4426 £ 0.0
-35.4+ 0.0

TP delay [ns]

TVC(c,b Ch) (3, 11 15

T nuiz.p1ye+u9 / 25
L. - pO 4384+ 0.0
p1 -34.1+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,0)

A1

2.ve+u9 /25
4456+ 0.0
-36.31+ 0.00

TP delay [ns]

TVC(cbch) (40,4

L - b0
- pl

-2y r4e+09 / 25
4464+ 0.0
-35.62+ 0.00

TP delay [ns]

TVC(cbch) (4 0,8

T rnuz513e+09 / 25
4463+ 0.0
-36.58 + 0.00

TP delay [ns]

TVC(cbch) (4,0,12

© 1z psse+u9 / 25
4415+ 0.0
-34.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,1)

- - po

- pL

A7 1 nuzyzye+U9 / 25
4461+ 0.0
-36.01+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (4 0,5

~ 1 nubrae+u9 / 25
4478+ 0.0
-36.7 £ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (4 0,9

- DO
pl

T nuzbz/e+u9 /25
4457+ 0.0
-36.21+ 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (4, O 13

~ 1 nuiz, r9ye+u9 / 25
4432+ 0.0
-34.97 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,0,2)

1000

e - PO

& p1

X~ 1z br4e+U9 /25
4452+ 0.0
-35.74+ 0.00

TP delay [ns]

TVC(cbch) (4,0,6

=/ nug,

1000

il - po
[ p1

131e+U9 / 25
4483+ 0.0
-36.12 + 0.00

TP delay [ns]

TVC(eb,oh)=(4, 0, 10

T, ll)de+U9/25

a000[Fe_ - pO 4446+ 0.0

b Pl 3437+ 000
s000f .
2000F .
1000 C = 29.09 [pS/Ch] -]

- -

-
1 1
5 5 T00

4000
3000
2000

1000

TP delay [ns]

TVC(cbch) (4,0,14

1 a2 59pe+09 / 25
4412+ 0.0
-34.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,3)

x- 1 iz Syae+U9 | 25
4469 + 0.0
-35.58+ 0.00

o - PO
- pl
I C=28.11 [ps/ch] =

1
100

TP delay [ns]

TVC(c,b ch) (4 0,7

- - PO
D pl

=1 Uz 9uee+u9 / 25
4446+ 0.0
-35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (4, O

Sz, /::e+u9/25
4447 £ 0.0
-35.3+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (4, O 15

-1 nuiz guse+u9 / 25
4427+ 0.0
-34.67 + 0.00

TP delay [ns]



TVC(cbch) (4,1,0 TVC(cbch) (4,1,1 TVC(cbch) (4,1,2) TVC(cbch) (4,1,3

AL es)Lve+09 125 Az t?bbeﬂ)g 125 A~ 1z Booe+U9 / 25 ATz, /)Meﬂ)g 125
4000 4441+ 0.0 4000 '—~ - po 4432+ 0.0 4000 -_ - po 4466+ 0.0 4000 '—_ - po 4452+ 0.0
-36.11+ 0.00 - pl -35.13+ 0.00 : - pl -36.18+ 0.00 - pl -35.22+ 0.00
3000 N 3000 =1 3000 -_ = 3000 - -1
2000 4 2000 - 2000 . 2000 ]
1000 ] 1000 . 0o C = 27.64 [ps/ch]=\ 7 wof ¢ = 28.39 [ps/ch]-'- .
5[‘) 100 gé 100 S(I) 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4.1,4 TVC(cbch) (41, TVC(cbch) (41,6 TVC(c, bch) (41,

S, I)AAENJQ 125 Trnar, i)zhe+09 125 “ g 5)b4e+u9 125 T A)L/EH)Q 125
4000 4416+ 0.0 4000 4394+ 0.0 4000 - pO 4375+ 0.0 4000 foum, - pO 4363+ 0.0
-34.213 0.00 -33.58+ 0.00 [ pl -32.35+ 0.00 pL 3211 % 0.00
3000 B 3000 B s000 ] 3000 [ B
2000 1 2000 E 2000 ] 2000 1
1000 R w00 C = =] [ "= i L -
- C =29.78 [ps/ch] ™. 001 C = 30.92 [ps/ch] ™. ] lo00F C = 31.14 [ps/ch] ™.
1 = 1 L L 1 el 1 L
50 00 50 100 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (41,8 TVC(cbch) (41, TVC(cbch) (41,10 TVC(cbch) (41,

11
T, A4)40e+09 125 T, /)UJE+U9 125 T 52¢e+09/25 T zb)zewg 125
4000 e - pO 4445 0.0 4000 e - pO 4430% 0.0 4000 fm - DO 4436+ 0.0 4000 foun, - p0 4409+ 0.0
- PL 3547+ 0.00 Pl -35.18+ 0.00 [ pl 342+ 0.0 Pl -34.93% 0.00
3000 4 3000 — 3000 ] 3000 ]
2000 4 2000 B 2000 ] 2000 4
1000 ] w00 C = 28.43 [ps/ch]"._ 7 ol C = 29.24 [pS/Ch]-'- 4 ool C = 28.63 [ps/ch]™= ]
1 1 - 1 1 "= 1 1 -
50 00 0 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (41,1 TVC(cbch) (41,13 TVC(cbch) (41,1 TVC(cbch) (41,15

T, AA)JeﬂJQ 125 T nug, n/)ueﬂ)e 125 LR vﬁ)leﬂjg 125 T rnu zt?/eﬂ)g 125
4000 [ _\ 4398 0.0 4000 4399 0.0 4000 B, - PD 4364+ 0.0 4000 - pO 4380+ 0.0
= -33.19.£ 0.00 -33.21% 0.00 L Pl -33.25:0.00 Pl -33.45:0.00

3000~ E 3000 — 3000 — 3000 [ B

2000 - 2000 - 2000 ] 2000 e

-. [ N, 2
wor C = 30.13 [ps/ch] ™. 1 ] vl C = 30.07 [ps/ch] = ] w0l C = 29.90 [ps/ch] = 1
-- - o -- - --
PR T S S R L1 MR T E 1 T . P M |
50 00 50 00 50 00 50 00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,2,0

A1, 1 30e+U9 / 25
e - PO 4416+ 0.0
- pl -35.94+ 0.00

TP delay [ns]

TVC(cbch) (4,24

- 533e+09 / 25
e - pO 4422+ 0.0
- Pl -36.08+ 0.00

TP delay [ns]

TVC(ebch)=(4,2,8

1 nuz.484e+09 / 25
- pO 4382+ 0.0
™ p1 -34.73+ 0.00

TP delay [ns]

TVC(cbch) (4,212

~ iz yise+u9 / 25
L - po 4408+ 0.0
- pl -35.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (42,1

T ug.u/oe+u9 / 25

- - pO 4427+ 0.0
-

e p1 -36.03+ 0.00

TP delay [ns]

TVC(c,b ch) (4 2,5

-1 Uz baye+u9 / 25
4400+ 0.0
-35.17 + 0.00

TP delay [ns]

TVC(c,b ch) (42,9

T inui 715e+U9 / 25
L - pO 4422+ 0.0
p1 -34.94 + 0.00

TP delay [ns]

TVC(c,b Ch) (4, 2 13

Tinanz oe+u9 /25
L - pO 4396+ 0.0
" p1 -35.2+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

:
:
w0k C = 28.46 [ps/chl=

of + e

4000

3000

2000

TVC(cbch) (4,2,2)

TP delay [ns]

TVC(cbch) (4,2,6

A~ 1w, tose+U9 / 25
- - po 4446+ 0.0
F p1 362+ 0.0

3000

TP delay [ns]

TVC(Cbch) (4, 2 10

T a0/ re+u9 / 25
gt - pO 4421+ 0.0
o= p1 -35.72+ 0.00

3000

Tz 1r3e+09 / 25
N - po 4402+ 0.0
[ p1 -35.14 + 0.00

TP delay [ns]

TVC(cbch) (4,214

1000

Trnug5r1e+09 /25
e - pD 4400+ 0.0
[ pl -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (42,3

T uig.Usze+u9 / 25
N - pO 4412+ 0.0
- pl -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (4 2,7

- rnub3/e+u9 / 25
L. - pO 4397+ 0.0
p1 -35.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (4,2,

T, /54e+u9/25
L - pO 4427+ 0.0
p1 -35.14 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 2 15

T inaiz./r0e+u9 /25
4391+ 0.0
-34.29+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,3,0

Tz 3r9e+U9 / 25
- pO 4395 0.0
- pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (43,4

Tz 1se+09 / 25
- pO 4402+ 0.0
== p1 -36.14+ 0.00

TP delay [ns]

TVC(cbch) (4 3,8

~1nuzplye+u9 / 25
E - pO 4424+ 0.0
- pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (4,312

T rnug340e+09 / 25
= - po 4416+ 0.0
pl -36.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,31

AT 1 nuzbyle+u9 / 25
E - po 4389+ 0.0
- pl -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (4 3,5

-1 nu.433e+09 / 25
4406 + 0.0
-36.48 + 0.00

TP delay [ns]

TVC(c,b ch) (4 3,9

- uz.430e+U9 ] 25
L - pO 4403 0.0
pL -35.54+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 3 13

T inuizgy/e+u9 /25
R - pO 4421+ 0.0
- p1 -35.92+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

TVC(cbch) (4,3,2)

A1, Lrse+U9 /25
= - po 4445+ 0.0
b p1 -36.1% 0.0

3000

TP delay [ns]

TVC(cbch) (43,6

- nuig, 158e+u9 / 25
L - pO 4484+ 0.0
.
P p1 -36.85+ 0.00

3000

TP delay [ns]

TVC(eb.oh)=(4, 3, 10

T nug.zrze+09 / 25
N - po 4434 0.0
[ - pl -35.71+ 0.00

TP delay [ns]

TVC(cbch) (4,3 14

1000

-1 nuig.usve+U9 / 25
N - pD 4435+ 0.0
[ p1 -36.22 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,3,3

A~ 1 nuz.4use+U9 / 25
-__ - po 4410+ 0.0
- pl -34.61+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (4 3,7

- nun 2.8ge+u9 / 25
L - pO 4425+ 0.0
= Pl -35.240.00

TP delay [ns]

TVC(c,b ch) (4, 3

EALER 954e+u9 125
L - pO 4436+ 0.0
p1 -35.22+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 3 15

T nuzbz/e+u9 /25
4418+ 0.0
-36.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,4,0

A1z no1e+U9 /25

L. - PO 4425+ 0.0
-

- pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (4 4,4

T b 3e+u9 / 25
_ - pO 4442+ 0.0
= Pl -36.86+ 0.00

TP delay [ns]

TVC(cbch) (4,4,8

©1nuzpage+u9 / 25
e - pO 4482+ 0.0
- pl -37.65+ 0.00

TP delay [ns]

TVC(cbch) (44,12

~rnuizys4e+U9 / 25
4393+ 0.0
-33.7+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,4,1

A7 1 nuiz,ooye+U9 / 25
— - po 4404+ 0.0
- pl -36.01+ 0.00

TP delay [ns]

TVC(c,b ch) (4 4,5

- a9z e+u9 25

L. - pO 4471£ 0.0
=

- pl -37.71+ 0.00

TP delay [ns]

TVC(c,b ch) (4.4,9

-1 nuiz.zyae+u9 / 25
o - pO 2420% 0.0
p1 -35.17 + 0.00

- C =28.43 [ps/ich|=™ 1
4 A
TP delay [ns]

TVC(c,b Ch) (4, 4 13

T nuiz soae+U9 / 25
- pO 4402+ 0.0
p1 -34.68 + 0.00

TP delay [ns]

4000

3000

2000

4000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,4,2)

1000

A1, fo3e+U9 / 25
B - po 4429+ 0.0
[ - pl -35.48+ 0.00

TP delay [ns]

TVC(Cbch) (4 4,6

T U3 /e+u9 / 25
L. - pO 4482+ 0.0
™
== p1 -37.63+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(4, 4, 10

© 1 nuz5zpe+U9 / 25
- - po 4435+ 0.0
[ p1 -35.32 % 0.00

TP delay [ns]

TVC(cbch) (4,4,14

- 1 nuiz,ugpe+U9 / 25
Free, - pD 4385+ 0.0
[ pl -33.71+ 0.00

I C =29.67 [ps/ch] =,
TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,4,3

A1z 493e+U9 / 25
_ - po 4441+ 0.0
- pl -36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (4 4,7

- 11U 04pe+U9 / 25
_ - pO 4439+ 0.0
= Pl -35.93: 0.00

TP delay [ns]

TVC(c,b ch) (4,4,

1)
-1 nuiz. r9ge+u9 / 25
A - pO 4465+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 4 15

T inuizzy/e+u9 /25
4397+ 0.0
-34.51+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,5,0

A~ 1z gooe+U9 / 25

= - po 4433+ 0.0
-

- pl -36.19+ 0.00

TP delay [ns]

TVC(cbch) (4,54

- rnuzgyve+u9 / 25
4431+ 0.0
-36.5+ 0.0

TP delay [ns]

TVC(cbch) (4 5,8

1 nuzpooe+U9 / 25
" sene - PD 4437+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (4,5,12

©1nuiz45ze+09 / 25
L - po 4408+ 0.0
pl -34.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,51

&A™ 1 nug.410e+U9 / 25

L. - po 4478 + 0.0
-

A pl -37.79:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 55

=1 U boye+u9 / 25
4441+ 0.0
-36.9 + 0.0

TP delay [ns]

TVC(c,b ch) (4 59

T nug sz3e+u9 / 25
=N - pO 4452+ 0.0
p1 -36.72+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 5 13

Tonanz.zoe+u9/ 25
4409+ 0.0
-33.88+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

TVC(cbch) (4,5,2)

A1z yzie+U9 /25
__~ - po 4451+ 0.0
[ p1 -36.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,56

- rnuz3z20e+09 / 25
e - pO 4421+ 0.0
Fe=a p1 -36.04 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(4, 5, 10

1 nuiz.448e+09 / 25
=Y - po 4438+ 0.0
[ pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (4,5,14

1000

~ 1z, ru4e+09 / 25
Y - pD 4435+ 0.0
: - pl -34.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,5,3

A1z 033e+U9 / 25
o) - po 4441+ 0.0
- pl -35.85+ 0.00

TP delay [ns]
TVC(c,b ch) (4, 5 )
-1 Ubbe+u9 / 25
4408 + 0.0
-35.1+ 0.0
1 1 i
50 100
TP delay [ns]

TVC(c,b ch) (4, 5

ERALEVX b14e+u9 125
4445+ 0.0
-36+ 0.0

TP delay [ns]

TVC(c,b ch) (4, 5 15

T inuiz r51e+U9 /25
4413+ 0.0
-33.89+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,6,0

A1 nug, 3uze+U9 / 25

- - po 4455 0.0
—

- pl -37.35+ 0.00

TP delay [ns]

TVC(cbch) (46,4

- rnugs11e+u9 / 25
L - pO 4418+ 0.0
== p1 -36.83+ 0.00

TP delay [ns]

TVC(cbch) (4 6,8

~1nuz.403e+09 / 25
L - pO 4439 0.0
- pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (4,6,12

© 1z s1ve+U9 / 25
- pO 4403+ 0.0
pl -35.24+ 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,6,1

A 11w 2ave+u9 | 25

L. - po 4468+ 0.0
e

- pL -38.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 6,5

=1 nu.48be+09 / 25
4401+ 0.0
-36.68 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (4 6,9

Tonan 2 /oe+u9/ 25
e - pO 4415+ 0.0
p1 -35.13+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 6 13

-1 nuiz.ysoe+u9 / 25
4446+ 0.0
-35.41+ 0.00

TP delay [ns]
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2000

4000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

TVC(cbch) (4,6,2)

1000

X~ 1 nuis 450e+09 / 25
- - po 4488+ 0.0
e
[ p1 -37.98+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,6,6

-1 nuzgyve+u9 / 25
N - pO 4431+ 0.0
- Pl -36.64+ 0.00

3000

TP delay [ns]

TVC(eb,ch)=(4, 6, 10

© 1z, ro8e+09 / 25
E - po 4415+ 0.0
b = p1 -35.48  0.00

TP delay [ns]

TVC(cbch) (4,6,14

1000

1 nuiz.4uve+09 / 25
- - pD 4384+ 0.0
[ pl -34.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,63

T ruig.zibe+u9 / 25

L. - pO 4470 0.0
v

- pl -37.35+ 0.00

TP delay [ns]

TVC(c,b ch) (4 6,7

-1 nu b3ze+u9 / 25
L - pO 4425+ 0.0
== Pl -35.92: 0.00

TP delay [ns]

TVC(c,b ch) (4, 6

ERALEVX bbdeﬂ]g 125
4419+ 0.0
-34.9 + 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (4, 6 15

T nuiz s44e+09 / 25
- pO 4392+ 0.0
-34.94+ 0.00

L -]

F C =28.62 [ps/ch[™ 1
B —T -'-

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,0

A~ 1 nuizuyze+U9 / 25
P - PO 4404+ 0.0
p1 -36.22+ 0.00

TP delay [ns]

TVC(cbch) (4,7,4

-1z 490e+09 / 25
Y - pO 4448+ 0.0
= Pl -36.94 0.00

TP delay [ns]

TVC(ebeh)=(4,7,8

1 nuz, 3oge+U9 / 25
RN - pO 4433+ 0.0
pl -36.02+ 0.00

TP delay [ns]

TVC(cbch) (4,7,12

T, (18e+09 / 25
- - po 4435+ 0.0
pl -34.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,1

AT 1nuorze+u9 /25
e - po 4447+ 0.0
- pl -36.13+ 0.00

TP delay [ns]

TVC(c,b,ch)= (4 7,5

“nuzg/e+u5/ 25
e - pO 4271% 0.0
p1 -36.14 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (4.7,9

~ 1 nuz g3ve+u9 / 25
L - pO 4446+ 0.0
p1 -35.25+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 7 13

T nuznzze+u9 / 25
Y - pO 4461 0.0
- p1 -35.69+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

2000

1000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (4,7,2)

A1, 1 30e+U9 / 25
ke - po 4447+ 0.0
[
[ - pl -36.14 + 0.00

TP delay [ns]

TVC(cbch) (4,7,6

S rnuz.z1e+09 /25
e - pO 4432+ 0.0
b p1 -36.19+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(4, 7, 10

© a2 ylse+U9 / 25
4443+ 0.0
-34.81+ 0.00

TP delay [ns]

TVC(cbch) (4,7,14

Tz, szze+09 / 25
- pD 4422+ 0.0
pl -34.56 + 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,3

AT nuiz,s29e+U9 / 25
_ - po 4440+ 0.0
= pl -36.26 + 0.00

TP delay [ns]

TVC(c,b ch) (4 7,7

- rnubo/e+u9 / 25
N - pO 4413+ 0.0
p1 -34.39+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (4, 7

1)
-1 nuiz gbbe+u9 / 25
L - pO 4447 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(Eben)=(4, 7, 15

nun Z.ze+u9 /25
4431+ 0.0
-34.6+ 0.0

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,0

A1z nsre+U9 /25
e - PO 4422+ 0.0
- pl -36.55+ 0.00

TP delay [ns]

TVC(cbch) (4,84

- 1 nuz 58ye+u9 / 25
_ - pO 4433+ 0.0
- pL -36.24 + 0.00

TP delay [ns]

TVC(cbch) (4 8,8

©1nuz3u4e+09 / 25
== - PD 4372+ 0.0
p1 -34.22+ 0.00

TP delay [ns]

TVC(cbch) (4,812

T rnuizp4/e+09 / 25
4383+ 0.0
-34.2+ 0.0

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,81

AT 1 nuiz,(14e+U9 / 25
e - po 4418+ 0.0
- pl -36.36+ 0.00

TP delay [ns]

TVC(c,b ch) (4 8,5

-1 nu gae+u9 / 25
e - po 4432+ 0.0
- p1 -36.34 + 0.00

TP delay [ns]

TVC(c,b ch) (4 8,9

-1 uz.doze+u9 ] 25
N - pO 4373+ 0.0
pL -33.74 % 0.00

TP delay [ns]

TVC(c,b Ch) (4, 8 13

~ 1 nuiz.yzee+u9 / 25
4391+ 0.0
-34.63+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

TVC(cbch) (4,8,2)

A1z n3se+U9 /25
e ) - po 4442+ 0.0
[ p1 -36.11+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,86

-1 nuig,035e+09 / 25
4422+ 0.0
-35.5+ 0.0

TP delay [ns]

TVC(eb,oh)=(4, 8, 10

1 nuizpooe+U9 / 25
- po 4412 0.0
i - p1 -34.49 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,814

1000

Tz gzze+09 / 25
RN - pD 4374+ 0.0
[ - pl -34.24+ 0.00

3000

TP delay [ns]

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,3

A1 nuig, 1ope+u9 / 25

- - po 4474+ 0.0
"nene

A p1 -36.42+ 0.00

TP delay [ns]

TVC(c,b ch) (4 8,7

- 1 nu g3ge+u9 / 25
— - po 4392+ 0.0
p1 -35.07 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 8

AR by=e+u9 125
£ - pO 4410+ 0.0
pl -33.87 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 8 15

- 1 nuiz boae+u9 / 25
4365+ 0.0
-33.45+ 0.00

TP delay [ns]



4000

3000

2000

1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,0

A~ 1z poze+U9 / 25
_ - PO 4469+ 0.0
- pl -36.35+ 0.00

TP delay [ns]

TVC(cbch) (49,4

- 1 nuz,9uge+u9 / 25

L - pO 4452+ 0.0
e

= Pl -36.07: 0.00

TP delay [ns]

TVC(cbch) (4 9,8

T rnuzb41e+09 / 25
L - pO 4394+ 0.0
p1 -34.05+ 0.00

TP delay [ns]

TVC(cbch) (4,9,12

1z 3use+u9 / 25
L - po 4420+ 0.0
pl -35.13+ 0.00

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,91

A7 1 nuz,39oe+u9 / 25
— - po 4451+ 0.0
- pl -36.51+ 0.00

TP delay [ns]

TVC(c,b ch) (4 9,5

-1 Uz baye+u9 / 25
e - po 4422+ 0.0
- p1 -34.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 9,9

- C =30.02 [ps/ch] ™=

1 nuiz.zyve+u9 / 25
N - pO 4391+ 0.0
p1 -33.31+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 9 13

T nuz s3se+u9 / 25
4437+ 0.0
-35.14+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

-f
:
wof ¢ = 30.50 [psich] ==, 1

L- S(I) 10'0 =

4000

3000

2000

1000

TVC(cbch) (4,9,2)

TP delay [ns]

TVC(cbch) (4,9,6

A1z B1ve+U9 / 25
e - po 4477+ 0.0
s
P == p1 -36.65 + 0.00

3000

-1z gple+u9 / 25
4437+ 0.0
-36.21+ 0.00

TP delay [ns]

TVC(eb,oh)=(4, 9, 10

1 nuiz,uyve+u9 / 25
Y - po 4392+ 0.0
[ p1 -32.78+ 0.00

TP delay [ns]

TVC(Cbch) (4, 9 14

T zo1e+u9/25
L - pD 4398+ 0.0
[ pl -33.02+ 0.00

FC =30.29 [ps/ch] ™~ 1

P R T
50 100

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,3

A~ 1 nuiz, (ooe+u9 / 25
e - po 4439+ 0.0
pl -36.14 + 0.00

TP delay [ns]

TVC(c,b ch) (4 9,7

- 1nug 139e+U9 / 25
o - pO 4443+ 0.0
p1 -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 9

=g, 45-_,e+ug 125
Ee - pO 4411+ 0.0
pL -33.45 + 0.00

L ¢ =29.90 [ps/ch] .,

TP delay [ns]

TVC(c,b ch) (4, 9 15

-1 nu b3ae+u9 / 25
4415+ 0.0
-34.35+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (4, 10 0)

©rnuiz430e+09 / 25
= - pO 4376+ 0.0
- pl -35+ 0.0

TP delay [ns]

TVC(Cbch) (4, 10 4

-1z, 74pe+09 / 25
£\ - pO 4440+ 0.0
A p1 -34.97+ 0.00

TP delay [ns]

TVC(cbch) (4,10,8

T nuig.4nze+09 / 25
L - pO 4439+ 0.0
- pl -35.06 + 0.00

TP delay [ns]

TVC(Cbch) (4, 10 12

T rnuzzole+U9 /25
L - po 4450+ 0.0
- p1 -36.1+ 0.0

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,10,1)

AT 1 nuzoe+u9 / 25
_ - po 4418+ 0.0
- pl -34.78 + 0.00

TP delay [ns]

TVC(c,b Ch) (4, 10 5

~ 1 nuzbgre+u9 / 25
e - pO 4424+ 0.0
A Pl -34.64% 0.00

50 150
TP delay [ns]

TVC(c,b ch) (4,10,9

T nuiz o3be+u9 / 25
4401% 0.0
-35.05+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 10 13

Tinuizo//e+u9/ 25
4436+ 0.0
-34.99+ 0.00

TP delay [ns]
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1000

4000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

TVC(CbCh) (4, 10 2)

~1nuizpole+u9 / 25
—_- - pO 4404+ 0.0
[ - pl -34.63+ 0.00

TP delay [ns]

TVC(Cbch) (4, 10 6

- rnun3.1ve+09 / 25
L - po 4427+ 0.0
[ - pl -35.27 + 0.00

3000

TP delay [ns]

TVC(e,b.eh)=(4, 10, 10

T 1nuzpyre+u9 / 25
L - po 4443+ 0.0
[ pl -35.93+ 0.00

TP delay [ns]

TVC(CbCh) (4, 10 14

1000

Tz, rz3e+09 / 25
L - pD 44351+ 0.0
[ pl -35.12+ 0.00

TP delay [ns]
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4000
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2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,10,3)

A1 261e+09 25
—__ - po 4374+ 0.0
p1 -34.49+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 10 7

- nug r2ze+09 / 25
L. - pO 4416+ 0.0
p1 -34.68+ 0.00

TP delay [ns]

TVC(ehch)=(4, 10, 11

"1 nuzb1ae+u9 / 25
L - pO 4430+ 0.0
p1 -34.69+ 0.00

TP delay [ns]

TVC(cbch) (4, 10 15

T nuiz s49e+U9 / 25
4413+ 0.0
-34.56 + 0.00

TP delay [ns]
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1000

TVC(CbCh) (4,11,0)

A~ 1, 1o8e+U9 / 25
_—~ - PO 4368+ 0.0
p1 -33.48+ 0.00

- C=29.87 [ps/ch] = ]

1
50 100

TP delay [ns]

TVC(cbch) (4, 11 4

T b ye+u9 / 25
4457+ 0.0
-35.21+ 0.00

TP delay [ns]

TVC(cbch) (4, 11 8

©1nuz583e+U9 / 25
N - pO 4443+ 0.0
= p1 -36.22 % 0.00

TP delay [ns]

TVC(c,b Ch) (4,11,12

X~ 1wz 158e+09 / 25
- - po 4418+ 0.0
pl -35.98 + 0.00

TP delay [ns]
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1000
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1000

4000

3000
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1000

4000

3000

2000

1000

TVC(Cbch) (4,11,1)

A7 1 nuiz,buyve+u9 / 25
L. - po 4407 £ 0.0
p1 -33.38+ 0.00

FC = 29.96 [ps/ch] = 7

L

1
50 100

TP delay [ns]

TVC(c,b Ch) (4, 11 5

-1 Uz byye+u9 / 25
4456 + 0.0
-35.79 + 0.00
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T nuiz.a10e+U9 / 25
L - po 4418+ 0.0
p1 -34.42 + 0.00

PR IR T
50 100

TP delay [ns]



TVC(cbch)(GOO TVC(cbch)(GOl TVC(cbch)(602) TVC(cbch)(603

T, 21:79+09 /25 AT nugy t?Uéerg 125 X~ 1w, rose+U9 / 25 ATz o)A/eﬂ)Q 125
4000 B\ 4356+ 0.0 4000 [ N\ - po 4441% 0.0 4000 Fo - po 4398+ 0.0 4000 [\ - po 4419+ 0.0
- -33.84:+ 0.00 - Pl -35.74% 0.00 [ = Pl 3458+ 0.00 - pl_ -35.38% 0.00
3000 E 3000 - 3000~ E 3000 -
2000 ] 2000 4 2000~ b 2000 B
[ A ]
L =\ E
N
- D] w0 1 w0l C = 28.92 [ps/ch]™ .
wnof C = 29,55 [ps/ch] 2. [ [ps/chl™2 7
- -
- 3 -
1 1 L 1 1 1 _L 1
50 T00 50 00 50 00 50 T00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,0,4) TVC(cbch) (6.0,5) TVC(cbch) (6.0,6) TVC(cbch) (6.0,7)
- 1 ose+U9 / 25 - o, 183e+U9 / 25 - o 838e+09 / 25 - 1 nu.548e+09 / 25
4000 e, - pO 4398+ 0.0 4000 4449 £ 0.0 4000 i - pO 4444+ 0.0 4000 Fon - pO 4432+ 0.0
- pl -33.64 + 0.00 -35.67 + 0.00 [ = pl -35.48 + 0.00 - pl -34.37+ 0.00

3000

- 3000 =1 3000 =1 3000

2000 E 2000 T 2000 2000

1000 1000 - 1000 X 1000

1 1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b ch) (6,0,8) TVC(c,b ch) (6.0,9) TVC(c,b, ch) (6,0,10) TVC(c,b ch) (6,0,11)
~rnugb1e+u9 / 25 -1z bzbe+u9 / 25 ~1nuz.491e+09 / 25 - 38ye+u9 / 25
4000 o N - pO 4416+ 0.0 4000 [ N\ - pO 4431+ 0.0 4000 [, - DO 4386+ 0.0 4000 4434+ 0.0
- pl -35.72.+ 0.00 - pL -36.37 + 0.00 L pl -34.75+ 0.00 -35.1% 0.0

3000

E 3000 E 3000 | E 32000

2000 g 2000 E 2000 | B 2000

1000 . 1000 . 1000

1 wof- C = 28,78 [ps/ch™

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(CbCh)(BOl ) TVC(cbch)(GOlB) TVC(CbCh)(BOl ) TVC(cbch)(6015)
1 nuiz4o8e+09 / 25 1 nuiz.bbye+u9 / 25 T nug51ve+U9 / 25 T nuiz b3se+u9 / 25
4000 s - PO 4422+ 0.0 4000 4433+ 0.0 4000 e\ - PD 4419+ 0.0 4000 4442100
- pl -34.93 + 0.00 -35.47 + 0.00 [ = pl -34.86 + 0.00 -35.66 + 0.00

- 3000

3000 1 3000 - 3000

2000 -1 2000 -1 2000 - 2000

1000 - 1000 1000 4 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (6,1,0)

4000

3000

2000

1000

e, - PO

A1 nuiz gooe+u9 / 25
4435+ 0.0
-36.73+ 0.00

- pL

0 1
50 100
TP delay [ns]
TVC(cbch) (6.1,4)
- 1nuzar9e+u9 /25
4000 e N - pO 4410+ 0.0
- p1 -34.13+ 0.00

3000

2000

1000

1
50 100

TP delay [ns]

TVC(cbch) (6 1,8

4000

3000

2000

1000

Tz zo3e+U9 / 25
4380+ 0.0
-33.99+ 0.00

0

1
50 100

TP delay [ns]

TVC(cbch) (61,12

4000

3000

2000

1000

~1nuizgyze+U9 / 25
4390+ 0.0
-34.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1)

- - PO

& pL

AT nuzr3e+U9 / 25
4441+ 0.0
-37.16+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

“rnuzgrze+u9 / 25
4403+ 0.0
-35.08 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)= (6 1,9

- pq
pl

T nuiLb4ze+U6 / 25
4274+ 0.0
-34.52+ 0.00

[ C =28.97 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (61,13

e, - PO

p1

Tonuazy81e+u9 /25
4380+ 0.0
-34.48 + 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (6,1,2)

-37.64 + 0.00

T z9ye+u9/ 25
= - pO 4471+ 0.0
™ enen
[ - pl -37.64 + 0.4

TP delay [ns]

TVC(cbch) (61,6

1000

L pO
- pl

- g 318e+09 / 25
4480+ 0.0
-35.95+ 0.00

TP delay [ns]

TVC(cbch) (6, 1 10

~ 1 nuzpoze+U9 / 25
4429+ 0.0
-34.5+ 0.0

e - po
[ i
- C =28.99 [ps/ch]™:

TP delay [ns]

TVC(cbch) (61,14

1 nuizpoyve+u9 / 25
4372+ 0.0
-34.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

e - PO

AT 1 nuzssoe+u9 / 25
4451+ 0.0
-37.25+ 0.00

- pL

TP delay [ns]

TVC(c,b ch) (6 1,7

- rnu /19e+U9 / 25
4395+ 0.0
-34.1+ 0.0

50

1
100

TP delay [ns]

TVC(c,b ch) (6, l

EREALER a44e+u9 125
4439+ 0.0
-34.29 + 0.00

50

1
100

TP delay [ns]

TVC(cbch) (6,1,15

-1 nuiz.yyze+u9 / 25
4396+ 0.0
-34.54+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,0)

A1z szse+U9 /25
4433+ 0.0
-36.81+ 0.00

1 =
50 100
TP delay [ns]
TVC(cbch) (6 2,4)
-z, yse+u9 / 25
) - pO 4452+ 0.0
- pl -35.62+ 0.00

TP delay

TVC(eb,ch)=(6, 2,8

[ns]

1 nuiz5ype+U9 / 25
4436+ 0.0
-34.63 + 0.00

1
50 00

TP delay

TVC(cbch) (6,212

g

[ns]

- re+u9 /25
4383+ 0.0
pl -33.75+ 0.00

L n n n n 1 "
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,1)

- - po

- pL

A~ 1 nuiz,5y0e+U9 / 25
4461+ 0.0
-35.96 + 0.00

TVC(c,b ch) (6 2,5

1
100

TP delay [ns]

-1 nu bype+u9 / 25
4452+ 0.0
-35.99 + 0.00

1
100

TP delay [ns]

TVC(eb,oh)=(6, 2,9

~ 1 nuz.o38e+u9 / 25
4467 0.0
-36.2+ 0.0

1
100

TP delay [ns]

TVC(c,b Ch) (6, 2 13

-1 nuiz.a9ve+u9 / 25
4428 + 0.0
-35.71+ 0.00

il
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,2)

1000

A1z 313e+09 /25
=) - po 4426+ 0.0
[ = pl -34.94 + 0.00
[ C=28.62[ps/ch]™= 1
1 1 -
50 100
TP delay [ns]
TVC(cbch) (6 2,6)
-1 nuz yuse+u9 / 25
L. - pO 44871 0.0
[ pl -35.53+ 0.00

TP delay

TVC(CbCh) (6, 2 10

[ns]

© 1 nuizpuse+u9 / 25
4479+ 0.0
-34.96 + 0.00

e - pO
[ o
- C =28.60 [ps/ch]™

TP delay

TVC(c,b Ch) (6, 2 14

- PD
p1

[ns]

T z50e+09/ 25
4403+ 0.0
-34.39+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3)

= - PO

AT 1 nuzb4/e+U9 / 25
4460+ 0.0
-36.3+ 0.0

pl

1
100

TP delay [ns]

TVC(c,b ch) (6 2,7

[ - po
p p1

-1 nu, (ope+u9 / 25
4451+ 0.0
-35.34+ 0.00

TP delay [ns]

TVC(eheh)=(6, 2,

- pO
pL

T, //5e+u9/25
4472+ 0.0
-35.82+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6, 2 15

T nuiz 120e+u9 / 25
4412+ 0.0
-34.98 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0)

- - po

- pL

1nun 2 rye+u9 /25
4444+ 0.0
-36.48 + 0.00

TP delay

TVC(cbch) (63,4

L - b0
- pl

[ns]

- rnuzgoze+u9 / 25
4485+ 0.0
-37.18 + 0.00

TP delay

TVC(cbch) (6 3,8

[ns]

©nuz 153e+09 / 25
4448+ 0.0
pl -35.88+ 0.00

TP delay

TVC(cbch) (6,312

b, - po

- p1

[ns]

T rnuig.uaze+U9 / 25
4438+ 0.0
-34.59 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,1)

- - pO

& pL

T zoye+u9/ 25
4428 + 0.0
-36.67 + 0.00

TP delay

TVC(c,b ch) (6 3,5

[ns]

-1 nu bobe+u9 / 25
4473+ 0.0
-36.28 + 0.00

TP delay

TVC(c,b ch) (6 3,9

[ns]

~ 1 nuig sz24e+09 / 25
4432+ 0.0
-34.61+ 0.00

1
50 00

TP delay

TVC(c,b Ch) (6, 3 13

[ns]

~ 1 nuiyzye+u9 / 25
4388+ 0.0
-34.53+ 0.00

r C =28.96 [ps/ch]™

PR R SR |
50 100

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000
3000
2000

1000

1000

TVC(cbch) (6,3,2)

- - PO

= p1

A1z So1e+U9 / 25
4433+ 0.0
-36.52+ 0.00

TP delay [ns]

TVC(cbch) (63,6

L. - po
Em== p1

- a2 bge+u9 / 25
4467+ 0.0
-35.79 + 0.00

TP delay [ns]

TVC(eb,oh)=(6, 3, 10

1000

T z10e+09/ 25
RN - po 4451+ 0.0
b pl -35.04+ 0.

-35.04 + 0.00

TP delay [ns]

TVC(cbch) (6,3 14

T nugbse+U9 / 25
4401+ 0.0
-35.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3)

= - po

A1z, robe+u9 / 25
4461+ 0.0
-35.6 + 0.0

pl

1
100

TP delay [ns]

TVC(c,b ch) (6 3,7

S nuzb1e+09 /25
4431+ 0.0
-34.9+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (6, 3

. - DO

pl

T, 154e+u9 125
4418+ 0.0
-34.83+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3 15

T nuiszzze+u9 / 25
4456+ 0.0
-35.23+ 0.00

1
100

TP delay [ns]



TVC(cbch)(640 TVC(cbch)(641 TVC(cbch)(642) TVC(cbch)(643

AT g, as)zle+09 125 AT g u):mewg 125 A rnwg ai1e+u9 /25 AT 2U/e+t)9 125
4000 [\ - po 4438+ 0.0 4000 e N - PO 4419+ 0.0 4000 - PO 4447+ 0.0 4000 fue - po 4448+ 0.0
o e
- pl -35.78+ 0.00 - pl -35.31+ 0.00 L - pl -35.84 + 0.00 - pl -35.49+ 0.00
3000 1 3000 - - a000f 1 3000 - N
2000 B 2000 |- E 2000 . 2000 - b
] ol C = 28.32 [ps/ch]™ 1 wor C = 27.90 [ps/ch]=y wor C = 28,18 [ps/ch™
- ) ) " "
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6.4,4) TVC(cbch) (6.4,5) TVC(cbch) (6.4,6) TVC(cbch) (6,4,7)
Tnuz14e+09 /25 - nu byse+u9 / 25 -1 nuz,ob3e+u9 / 25 " rnu.4/1e+09 /25
4000 e - pO 4385+ 0.0 4000 4406+ 0.0 4000 [ N - pO 4430+ 0.0 4000 o - pO 4405+ 0.0
Pl 3384000 -34.57 £ 0.00 [ = Pl -35.09+0.00 = Pl 3447000

3000

-1 3000 -1 3000 -1 3000

2000 e 2000 - 2000 - 2000

1000 _ 1000 ] 1000

- 1000

1 1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6 4,8 TVC(cbch) (6 4, TVC(cbch) (6, 4 10 TVC(c, bch) (6, 4

T, 1)d4e+09 125 T VJ)UHE+U9 125 S, 31)4e+09/25 T, zJ_)Le+U9125
4000 fo N - pO 4433+ 0.0 4000 4393+ 0.0 4000 e - DO 4424+ 0.0 4000 [uuen - p0 4404+ 0.0
- pl -35.07:+ 0.00 -34.31% 0.00 [ pl -34.03 0.00 pL -33.01+ 0.00
3000 E 3000 — 3000 ] 3000 -
2000 [~ ] 2000 ] 2000 - ' 2000 - 1
“ooF C = 2852 [ps/ch]= 1 ] wof C = 29.39 [ps/ch] ™, ] wofb C = 30.30 [ps/ch] =, 7
1 1 - 1 1 - E 1 1 -- L 1 -
0 50 100 50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (64,12 TVC(C, bch) (64,13 TVC(cbch) (64,14 TVC(C, bch) (64,15

~ 1 nuz,405e+09 / 25 T z2.29e+09 / 25 T, (45e+09 / 25 Tz 3a3e+09 / 25
4000 e\ - pO 4399 0.0 4000 4407 0.0 4000 fmm - PD 4427 0.0 4000 4392 0.0
= pl -32.87+ 0.00 -34.13+ 0.00 [ = pl -32.99+ 0.00 -33.71+ 0.00
3000~ B 3000 T 3000 = - 3000 T
2000 ] 2000 — 2000k ] 2000 E
= ]
tooof /ch - 1000 - 7] 1000 /ch - 1000 ]
C=30.43 [ps c ] - C 30.31 [ps c ] -
- ] -
" - - -
1 P M L1 MR T 1 M M P MR T
50 o 50 00 50 o 50 00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

A1z, zzoe+U9 [ 25
_ﬁ - po 4427+ 0.0
- pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (65,4

S rnuzz4e+09 / 25
RN - pO 4409+ 0.0
A p1 -34.16+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6 5,8

1 nuz,5o8e+09 / 25
e - pO 4451+ 0.0
- pl -35.68+ 0.00

TP delay [ns]

TVC(cbch) (6,5,12

1 nuiz,ygve+U9 / 25
RN - po 4438+ 0.0
- p1 -34.79 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,1

AT 1 nuiz, (o9e+U9 / 25

- - po 4463+ 0.0
-

- pl -35.59+ 0.00

TP delay [ns]

TVC(c,b ch) (6 55

-1 nug 18be+u9 / 25
4396+ 0.0
-33.83+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 59

1 ud30e+U9 ] 25
e - pO 4407 + 0.0
pL -34.62 % 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 5 13

~ 1 nuiz.u4ze+u9 / 25
4423+ 0.0
-35.47+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (6,5,2)

A~ 1z yzve+U9 / 25
b - po 4493+ 0.0
[
= p1 -36.27 + 0.00

TP delay [ns]

TVC(cbch) (6,56

FC =29.67 [psich] =._ 7

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 5, 10

S rnuz0/re+u9 / 25
4398+ 0.0
-33.7+ 0.0

~ 1, ro4e+09 / 25
e - po 4435+ 0.0
b p1 -34.68+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

~1nuizplye+u9 / 25
e - pD 4414+ 0.0
: - pl -34.39+ 0.00

P B R
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

AT 1 nuiz Zsse+u9 / 25
oo - po 4428 + 0.0
- pl -34.75+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 57

-1 nu fuae+u9 / 25
_ - pO 4427+ 0.0
& Pl -34.54:0.00

50 160
TP delay [ns]

TVC(c,b ch) (6, 5

AL suewg 125
E. S - pO 4428+ 0.0
p1 -34.71+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5 15

T inuzg1ze+u9 /25
4435+ 0.0
-35.12+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0

A1z ysse+U9 / 25

- - po 4452+ 0.0
—

- pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (6.6,4

-1 nuz boge+u9 / 25
_ - pO 4421+ 0.0
= Pl -34.93: 0.00

TP delay [ns]

TVC(cbch) (6 6,8

1 nuiz,ugve+U9 / 25
RN - pO 4429+ 0.0
-35.59 + 0.00

[C=28.10 [ps/ch]™ 1

1
50 00

TP delay [ns]

TVC(cbch) (6,6, 12

~1nuz593e+09 / 25
RN - po 4423+ 0.0
- pl -35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1)

R~ 1z b11e+ud | 25
- - po 4446+ 0.0
- pl -35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

“nu /31e+09 / 25
4455+ 0.0
-36.22 + 0.00

TP delay [ns]

TVC(c,b ch) (6 6,9

"~ 1 nuiz.z44e+09 / 25
N - pO 4428+ 0.0
p1 -34.21+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 6 13

1 nuiz vbve+u9 / 25
4418+ 0.0
-34.82+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000

2000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,6,2)

X~ 11z, oove+U9 / 25
= - po 4437+ 0.0
[ - pl -35.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (66,6

1000

S rnuz.81e+09 /25
4441+ 0.0
-35.31+ 0.00

TP delay [ns]

TVC(eb,ch)=(6, 6, 10

©1nuz 31pe+U9 / 25
- po 4455 0.0
i -, p1 -35.31+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,6,14

Tz, r5e+09 / 25
RN - pD 4422+ 0.0
P pl -34.56 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3

x- 1. [ zae+09 | 25

- - po 4462 + 0.0
e

A p1 -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (6 6,7

-1 nu Zooe+u9 / 25
L - pO 4428+ 0.0
= Pl -35.82: 0.00

TP delay [ns]

TVC(c,b ch) (6, 6

T, 1bye+u9 125
e - pO 4432+ 0.0
p1 -34.46 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 6 15

-1 nug r9ae+U9 / 25
4439+ 0.0
-35.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0

X~ 1 iz oose+U9 / 25
Ee - po 4420+ 0.0
- pl -35.25+ 0.00

TP delay [ns]

TVC(cbch) (67,4

- 1 i Bage+u9 / 25
= - po 4379+ 0.0
pl -34.33+ 0.00

50 5
TP delay [ns]

TVC(cbch) (6 7,8
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b - p1 -34.9+ 0.0
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